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9.15.4 �GDE>D>< < ?56>= >?46<L5= (<OL<)) HaDKaTb 6<DFG4?L?GN >=>?>G >�10>

(�DD.�?6). �=>?>4 747>D<FEO 6 E>>F65FEF6<< E D<ElFr>>< 74.

9.15.5 �O?>?=<FL E<EF5<>= <7<5D5=<5 =4?DO65=<O ?>EF>O==>7> F>>4 ?> F5?< <$r2>.

.-?O G57>, >GDE>D>< < ?56>= >?46<L5= (<OL<)) =464FL 6<DFGzr?L=GN >=>?>G (�7<5D<FL 7=4G5-

=<5). 6 E>>F65FEF6<< E D<EG=>>< l7. � >>=5 ?D>7D4<<O <�4?DO65=<5> 6 >>=5 <$"2> ?>O6<FEO

D57G?LF4F <7<5D5=<=. �>?GG5==O= D57G?LF4F <7<5D5=<= 6=5EF< 6 ?D>F>>>? <&45?<F4 �.14>.

9.15.6 %=OFL =4?DO65=<5 E 6LFE>44 >4?<5D4F>D4.
9.15.7 �4 >4:I<5D4F>D5 ?>E?54>64F5?L=> GEF4=>6<FL =4?DO65�<5 ?>EF>O==>7> F>>4 9 <

10 6.
9.15.8 �?O >464>7> GEF4=>6?5==>7> 7=4G5=<O 6O?>?=<FL 45=EF6<O 6 E>>F65FEF6<< E <5-

F>4<>>= ?.?. 9. l5.3 - 9.1 5.6.

9.15.9 �4 >4?<5D4F>D5 ?>E?54>64F5?L=> GEF4=>6<FL =zl?DO65=<5 ?>EF>O==>7> F>>4 <<-
=lE 8. <<=GE 9 < <<=GE l0 �.

9.15.10 �?O >464>7> GEF4=>6?5==>7> 7=4G5=<O 6O?>?=<FL 45�EF6<O 6 E>>F65FEF6<< E

<5F>4<>>= ?.?. 9.15.3 - 9.15.6.

9.15.1l �5=G?<FL ?>>474=<O E<EF5<O 6 E>>F65FEF6<< E D<EG=>>< 38.

9.15.12 %=OFL =4?DO;>5=<5 E E<EF5<O <7<5D<F5?L=>=. ?>6F>D=> =4646 >=>?>G <Kl0>
(�DD.�?6).

9. l 5 �?D545?5=<5 ?D<6545==>= ?>7D5L6>EF< (> ��) <7<5D5=<� =4?DO65=<O ?>EF>O�lt>-

7> F>>4 ?> F5?< <$M>

9.16.1 .-?O <7<5D5=<= =4?DO65=<O ?>EF>O==>7> F>>4 ?> F5?< <$M> E>5D4FL EE5<G 6 E>>F-

65FEF6<< E D<EG=>>N{ 76. !?O G57>, ?>4>?NG<FL > ?G?LFG ?D>65D><, E>5?N4fuI ?>JIJID=>EFL:

- <+> >4?<5D4F>D4 > >?5<<5 <$M>;

- <-> >4?<5D4F>D4 > >?5<<5 >�5rF. $6>.

9.16.2 �4 >4?<5D4F>D5. E>7?4E=> DG>>6>4EF6G ?> M>E??G4F4F<<, >D74=4N{< G?D46?5=<O

GEF4=>6<FL =4?DO65=<5 8 �,
9. 16.3 �>44FL E >4?<5D4F>D4 =4?DO65=<5 =4 E<EF5<G <7<5D<F5?L=},N.

9.16.4 �GDE>D>< < ?56>= >?46<L5= (<OL<) =464FL 6<DFG4?L=GN >=>?>G >�10>

(�DD.�?6). �=>?>4 747>D<FEO 6 E>>F65FEF6<< E D<EG=>>< 74.

9.15.5 �O?>?=�FL E<EF5<>= <7<5D5=<5 =4?DO65=<O ?>EF>O==>7> F>>4 ?> F5?< <$M>..IIrFO

G57>. >GDE>D>� < ?56>= >?46<L5= (<OL<)) =464FL 6<DFG4?L=}.N >=>?>G >�7<5D<FL 7�4G5=<5)), 6

E>>F65FEF6<< E D<EG=>>< l2. � >>=5 ?D>7D4<<O >�4?DO65=<5> 6 >>=5 <$M> ?>O6<FEO D57G?LF4F
<7<5D5=<=. �>?Gr5==O= D57G?LF4F <7<5D5=<= 6=5EF< 6 ?D>F>>>? >&45?<F4 B.l 5>.

9. l 5.6 %=OFL =4?DO65=<5 E 6OE>44 >4?<5D4F>D4.
9.16.7 �4 >4?<5D4F>D5 ?>E?54>64F5?L=> GEF4=>6<FL =il?DO65=<5 ?>EF>O==>7> F>>4 9 <

10 6.
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9.15.8 �?O >464>7> GEF4=>6?5==>7> 7=4G5=<O 6O?>?=<FL 45=EF6<O 6 E>>F65FEF6<< E <5-
F>4<>>= ?.?.9.15.3 - 9.15.6.

9.16.9 �4 >4?<5D4F>D5 ?>E?54>64F5?L=> GEF4=>6<FL =4?DO65=<5 ?>EF>O==>7> F>>4 <<-
=GE 8. <<=GE 9 < <<=GE l0 �.

9.16.10 �?O >464>7> GEF4=>6?5==>7> 7=4G5=<O 6O?>?=<FL 45=EF6<O 6 E>>F65FEF6<< E
<5F>4<>>= ?.?. 9. l6.3 - 9. l6.6.

9.16.1l �5=G?<FL ?>>474=<O E<EF5<O 6 E>>F65FEF6<< E D<EG=>>< 38.
9.16.12 %=OFL =4?DO65=<5 E E<EF5<O <7<5D<F5?L=>=. ?>6F>D=> =4646 >=>?>G <KlO>

(�DD.�?6).

9.17 �?D5?5?5=<5 ?D<6545==>= ?>7D5L=>EF< (> ��) <7<5D5=<= =4?DO65=<O ?>EF>O==>-
7> F>>4 ?> F5?< K6,,l >>>

9.17.1 �?O <7<5D5=<= =4?DO65=<= ?>EF>O==>7> F>>4 ?> F5?< <�"l>> E>5D4FL EE5<G 6 E>-
>F65FEF6<< E D<EG=>>< 77. !?O G57>, =4 ?G?LF5 ?D>65D>< ?>4>JING<FL, E>5?N44O ?>?OD=>EFN:

- (+) >4?<5D4F>D4 > >?5<<5 >�ul >>;

- <-> >4?<5D4F>D4 > >?5<<5 >�5M. � >>.
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$<EG=>> 77 - %E5<4 ?>4>?NG5=<O >4?<5D4F>D4 ?> F5?< K6"lK>

9.17.2 �4 >4?<5D4F>D5, E>7?4E=> DG>>6>4EF6G ?> M>E?JIG4F4F<<, >D?l�:<< G?D46?5=<O

GEF4=>6<FL =4?DO65=<5 8 �.
9. l7.3 �>44FL E >4?<5D4F>D4 =4?DO65=<5 =4 E<EF5<G <7<5D<F5?L=GN.
9,17.4 �GDE>D>< < ?56>= >?46<L5= (<OL<)) =464FL 6<DFG4?L=GN >=>?>G KKl1> (NX).

�=>?>4 747>D<FEO 6 E>>F65FEF6<< E D<EG=>>< 78.

'?D46?5=<₠ D5r5

$<EG=>> 78

9.17.5 �O?>?=<FL E<EF5<>= <7<5D5=<5 =zl?DO65=<O ?>EF>O==>7> F>>4 ?> F5?< >6rl�>.

.-?O G57>. KypcopoNt < ?56>= >?46<L5= (<OL<) =464FL 6<DFGiulL=GN >=>?>G >�7<5D<FL 7=4G5-

=<5). 6 E>>F65FEF6<< E D<EG=>>< l7. � >>=5 ?D>7Dal<<O >�4?DO65=<5D 6 >>=5 <5?l>> ?>O6<FEO

D57G?LF4F <7<5D5=<=. �>?GG5==O= D57G?LF4F <7<5D5=<= 6=5EF< 6 ?D>F>>>? <&45?<F4 B.l6>.
9.17.6 %=OFL =4?DO65=<5 E 6OE>44 >4?<5D4F>D4.
9.17.7 �4 >4?<5D4F>D5 ?>E?54>64F5?L=> GEF4=>6<FL =4?DO65=<5 ?>EF>O==>7� F��4 9 �

l0 6.
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9.17.8 fuO >464>7> GEF4=>6?5==>7> 7=4G5=<O 6O?>?=<FN 45=EF6<O 6 E>>F65FEF6<< E <5-
F>4<>>= ?.?. 9.1 7.3 -9.|7.6.

9.17.9 �4 >4?<5D4F>D5 ?>E?54>64F5?L=> GEFil=>6<FL =4?DO65=<5 ?>EF>O=?>7> F>>4 <<-
=GE 8. <<=GE 9 < <<=GE l0 �.

9.17.10 !?O >ar>4>7> GEF4=>6?5==>7> 7=4G5=<O 6O?>?=<FL 45=EF6<O 6 E>>F65FEF6<< E
<5F>4<>>= ?.?.9.17.3 - 9.1'7 .6.

9.17.1 l �5=G?<FL ?>>474=<O E<EF5<O 6 E>>F65FEF6<< E D<EG=>>< 38.
9.17.12 %=OFL =4?DO65=<5 E E<EF5<O <7<5D<F5?L=>=. ?>6F>D=> =4646 >=>?>G (KllD

(Nx).

9.18 �?D545?5=<5 ?D<6545==>= ?>7D5L=>EF< (> ��) <7<5D5=<= =4?DO65=<O ?>EF>O==>-
7> F>>4 ?> F5?< >5'2>>

9.18.1 �?O <7<5D5=<= =4?DO65=<= ?>EF>O==>7> F>>4 ?> F5?< >5"2>> E>5D4FL EE5<G 6 E>-
>F65FEF6<< E D<EG=>>< 79. .I|?O G57>. =4 ?G,FILF5 ?D>65D>< ?>4>JING<FL, E>5?N44O ?>?OD=>EFL:

- >*> >4?<5D4F>D4 > >?5<<5 <�u2>>;

- <-> >4,F<5D4F>D4 > >?5<<5 <�5M. 5 >>.
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9.18.2 �4 >4.,l<5D4F>D5. E>7.,l4E=> D!>>6>4EF6G ?> M>E??G4F4F<<, >D?l=:llr< G?D46?5=<O
GEF4=>6<FL =4?DO65=<5 8 �.

9. l8.3 �>44FL E >fu.r<5D4F>D4 =4?DO65=<5 =4 E<EF5<G <7<5D<F5?L=GN.
9.18.4 �GDE>D>< < ?56>= >?46<L5= (<OL<> H.DKaTb 6<DFG4?L=},N >=>?>G (�1 l) (NX).

�=>?>4 747>D<FEO 6 E>>F65FEF6<< E D<EG=>>< 78.

9.18.5 �O?>?=<FL E<EF5<>= <7<5D5=<5 =4?DO65=<O ?>EF>O==>7> F>>4 ?> F5?< (6<2>).

�?O G57>, >GDE>D>< < ?56>= >?46<L5= ((<OL<)) =464FL 6<DFGar?L=GN >=>?>G (�7<5D<FL 7=4G5-

=<5)J 6 E>>F65FEF6<< E D<E}N>>< l7. � >>=5 ?D>7D4}r<O >�4?DO65=<5> 6 >>=5 <6"2>> ?>O6<FEO

D57G?LF4F <7<5D5=<=. �>?GG5==O= D57G?LF4F <7<5D5=<= 6=5EF< 6 ?D>F>>>? >&45?<F4 B.l7>.
9.18.6 %=OFL =4?DO65=<5 E 6LrE>44 >4,r<5D4F>D4.
9.18.7 �4 >4?<5D4F>D5 ?>E,?54>64F5?L=> GEF4=>6<FL =il?DO65=<5 ?>EF>O==>7> F��4 9 �

l0 6,
9.18.8 �?O >464>7> GEF4=>6?5==>7> 7=4G5=<O 6O?>?=<FL 45�EF6<O 6 E>>F65FEF6<< E <5-

F>4<>>= ?.?. 9.1 8.3 - 9.18.5.

9.18.9 �4 >4?<5D4F>D5 ?>E?54>64F5?L=> GEF4=>6<FL =il?DO65=<5 ?>EF>O==>7> F>>4 <<-

=lE 8. v<=GE 9 < <<=GE l0 �.
9.18.10 �?O >464>7> GEF4=>6?5==>7> 7=4G5=<O 6LL>?=<FL 45�EF6<O 6 E>>F65F%&��� %

<5F>4<>>= ?.?. 9. l8.3 - 9. l8.6.
9.18.1 l �5=G?<FL ?>>474=<O E<EF5<O 6 E>>F65FEF6<< E D<EG=>>< 38.

9.18.12 %=OFL =4?DO65=<5 E E<EF5<O <7<5D<F5?L=>=. ?>6F>D=> =4646 >=>?>G KKl1>
(Nx).
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9.19.2 �4 >4?<5D4F>D5, E>7?4E=> DG>>6>4EF6G ?> M>E??G4F4F<<, >D7ir=.Ltr< G?D46?5=<O

GEF4=>6<FL =4?DO65=<5 8 �.
9.19.3 �>44FL E >4?<5D4F>D4 =4?DO65=<5 =4 E<EF5<G <7<5D<F5?L=},N.

9.19.4 �GDE>D>< < ?56>= >?46<L5= (<OL<)) =464FL 6<DFG.r?L=GN >=>?>G KKl1> (N%).

�=>?>4 747>D<FEO 6 E>>F65FEF6<< E D<E)N>>< 78.

9.19_5 �O?>?=<FL E<EF5<>= <7<5D5�<5 =4?DO65=<O ?>EF>O==>7> F>>4 ?> F5?< (61>).

.-?O G57>, >GDE>D>< < ?56>= >JI46<L5= (<OL<)) =464FL 6<DFG:LL�GN >=>?>G (�7<5D<FL 7=4G5-

=<5), 6 E>>F65FEF6<< E D<EG=>>< l7. � >>=5 ?D>7Dil<<O (�4?DO65=<5) 6 ���5 (61�) ��/��&%/

D57G?LF4F <7<5D5=<�. �>?GG5==O� D57G?LF4F <7<5D5=<� 6=5EF< 6 ?D>F>>>? (&45?<F4 �.18).
9, l9.6 %=OFL =4?DO65=<5 E 6L6>44 >ir?<5D4F>D4.

9.19.7 �4 >4;l<5D4F>D5 ?>E?54>64F5?L=> GEF4=>6<FL =4?DO65=<5 ?>EF>O==��� &��4 9 �

l0 6.
9.19.8 �?O >464>7> GEF4=>6-r5==>7> 7=4G5=<O 6O?>?=<FL 45=EF6<O 6 E>>F65FEF6<< E <5-

F>4<>>= ?.?. 9.19.3 - 9.19.5.

9.19.9 �4 >4?<5D4F>D5 ?>E?54>64F5?L=> GEF4=>6<FL =4?DO65=<5 ?>EF>O==>7> F>>4 <<-

=GE 8. <<=GE 9 < <<=GE l0 �.
9.19.10 �?O >464>7> GEF4=>6?5==>7> 7=4G5=<O 6O?>?=<FL 45�EF6<O 6 E>>F65F%&��� %

<5F>4<>>= ?.?. 9.19.3 - 9.19.6.

9. I 9. l l �5=G?<FL ?>>474=<O E<EF5<O 6 E>>F65FEF6<< E D<EG=>>< 38.

9.19.12 %=OFL =4?DO65=<5 E E<EF5<O <7<5D<F5?L=>=. ?>6F>D=> =4646 >=>?>G KKl1>
(NX).

9.20 �?D545?5=<5 ?D<6545==>= ?>7D5L=>EF< (> �?) <7<5D5=<= =4?DO65=<O ?>EF>O==>-

7> F>>4 ?> F5?< (�2>)
9.20.1 .-?O <7<5D5=<= =4?DO65=<= ?>EF>O==>7> F>>4 ?> F5?< >62>> E>5D4FL EE5<G 6 E>-

>F65FEF6<< E D<EG=>>< 8l. �?O G57>, =4 ?G?LF5 ?D>65D>< ?>4>JINGLFFL, E>5.7?>44O ?>JIOD=>EFL:

- (+) >4?<5D4F>D4 > >?5<<5 >62>>;

- <-> >4?<5D4F>D4 > >JI5<<5 <<�5M. 5>>.

9.20.2 �4 >4.F<5D4F>D5, E>7?4E=� DG>>6>4EF6G ?> M>E??G4F4F<�, �$�4�:ll\,t< G?D46?5=<O

GEF4=>6<FL =4?DO65=<5 8 �.
9.20.� �>44FL E >4?<5D4F>D4 =4?DO65=<5 =4 E<EF5<G <7<5D<F5?L=GN.

�4J?5DF>D

50

9. l9 �?D5?5?5=<5 ?D<6545==>= ?>7D5L=>EF< (> ��) <7<5D5=<= =4?DO65=<O ?>EF>O�=>-
7> F>>4 ?> F5?< <6l >>

9.19.1 �?O <7<5D5=<= =4?DO65=<= ?>EF>O==>7> F>>4 ?> F5?< <61>> E>5D4FL EE5<G 6 E>-
>F65FEF6<< E D<E}N>>< 80. �?O G57>, =4 ?G?LF5 ?D>65D>< ?>4>JING<FL, E>5?N44O ?>?OD=>EFL:

- >*> >4?<5D4F>D4 > >?5<<5 <�l>>;

- <4> >4?<5D4F>D4 > K-qeMMe >�5F. 5>>.
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9.20.4 �GDE>D>< < ?56>= >?46<L5= (<OL<D HzDKaTb 6<DFGir?L=GN >=>?>G (�1 1) (NX).
�=>?>4 747>D<FEO 6 E>>F65FEF6<< E D<EG=>>< 78.

9.20.5 �O?>?=<FL E<EF5<>= <7<5D5=<5 =4?DO65=<O ?>EF>O==>7> F>>4 ?> F5?< (�2>).
!?O G57>, >GDE>D>< < ?56>= >?46<L5= (<OL<) =464FL 6<DFG4?L=},N >=>?>G (�7<5D<FL 7=4G5-
�<5), 6 E>>F65FEF6<< E D<EG=>>< 17. � >>=5 ?D>7Dtl<<O (�4?DO65�<5) 6 >>=5 (62>> ?>O6<FEO
D57G?LF4F <7<5D5�<=. �>?GG5==O= D57G?LF4F <7<5D5�<= 6=5EF< 6 ?D>F>>>? >&45?<F4 �. l9>.

9.20.6 %=OFL =4?DO65=<5 E 6OE>44 >4?<5D4F>D4.
9-20.7 �4 >4?<5D4F>D5 ?>E?54>64F5?L=> GEF4=>6<FL =4?DO65=<5 ?>EF>O==>7> F>>4 9 <

l0 6.
9.20.8 �?O >464>7> GEF4=>6?5==>7> 7=4G5=<O 6O?>?=<FL 45=EF6<O 6 E>>F65FEF6<< E <5_

F>4<>>= ?.?. 9.20.7 - 9.20.6.

9.20.9 �4 >zt,l<5D4F>D5 ?>E?54>64F5?L=> GEF4=>6<FL =4?DO65=<5 ?>EF>O==>7> F>>4 <<-
=GE 8. <<=GE 9 < v<=GE l0 �.

9,20.10 !?O >464>7> GEF4=>6?5==>7> 7=4G5=<O 6O?>?=<FL 45=EF6<O 6 E>>F65FEF6<< E
<5F>4<>>= ?.?. 9.20.� - 9.20.6.

9.20.1 1 �5=G?<FL ?>>474=<O E<EF5<O 6 E>>F65FEF6<< E D<EG=>>< 38.
9,20.12 %=OFL =4?DO65=<5 E E<EF5<O <7<5D<F5?L=>=. ?>6F>D=> =4646 >=>?>G (�11)

(NX).

9.2l �?D545?5=<5 ?D<6545==>= ?>7D5L=>EF< (> ��) <7<5D5=<= �4?DO65=<O ?>EF>O==>-
7> F>>4 ?> F5?< (�M>)

9.21.| !?O <7<5D5=<= =4?DO65=<= ?>EF>O==>7> F>>4 ?> F5?< (�2>)) E>5D4FL EE5<G 6 E>-
>F65FEF6<< E D<EG=>>< 82. ff?O G57>, =4 ?G?LF5 ?D>65D>< ?>4>JING<FL, E>5J?>44O ?>?OD=>EFL:

_ (+) >4?<5D4F>D4 > >?5<<5 <6M>>;

- <-> >4?<5D4F>D4 > >?5<<5 >�5M. �>>.

D -anl

$@$
o.1 ?a 

' 
tEl >a

@$$ $$$
9--,rl

@

$$

�4?5DL,>D

+
�4,?r5D4F>D

$<EG=>> 82 - %E5<4 ?>4>?NG5=<O >4?<5D4F>D4 ?> F5?< >5M>>

5l



E< D<_760.9500-0 <?

9.21.2 �4 >4?<5D4F>D5. E>7?4E=> DG>>6>4EF6G ?> M>E??G4F4F<<, >D7:L4 r< G?Dz6?5=<O
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?> F5?< >-27�-�?.6>. .-?O G57>. Kvpcopo< < ?56>= >?46<L5= ((<OL<) =464FL 6<DFG4?L=).N >=>?-
Kv <�7<5D<FL 7=4G5=<5), 6 E>>F65FEF6<< E D<E},=>>< 12. � >>=5 ?D>7D4<<O <�4?DO65=<5> 6
>>=5 <-27 �-�?.6> ?>O6<FEO D57G?LF4F <7<5D5=<=. �>?GG5==O5 D57G?LF4FO <7<5D5=<= 6=5EF< 6
?D>F>>>? <&45?<F4 �.26>.

9.2'7.6 %=OFL E E<EF5<O =4?DO65=<5 ?>EF>O==>7> F>>4 ?>6F>D=> =4646 >=>?>G >�7>
(�>)

9.2'7 .7 �4 <EF>G=<>5 ?<F4=<O >-27-6> ?>E?54>64F5?L=> GEF4=>6<FL =4?DO65=<5 ?>EF>O=-
=>7> F>>4 <<=GE 29 < <<=GE 34 �.

9.21.8 -?O >464>7> GEF4=>6?5==>7> 7=4G5=<O 6O?>?=<FL 45=EF6<O 6 E>>F65FEF6<< E <5-
F>4<>>= ?.? 9.27 .� - 9.27 .6.

9.27.9 �5=G?<FL ?>>474=<O E<EF5<O 6 E>>F65FEF6<< E D<EG=>>< 38.
9.27.10 %=OFL E E<EF5<O =4?DO65=<5 ?>EF>O==>7> F>>4 HiDKaB 6<DFGzr?L=GN >=>?>G

KKl> (�>?. �<F), 6 E>>F65FEF6<< E D<EG=>>< l4.
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$<EG=>> 91 - %E5<4 <7<5D5=<O E<?O ?>EF>O==>7> F>>4 ?> F5?< >27 � (�)>
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9.28 �?D545?5=<5 ?D<6545==>= ?>7D5L=>EF< (> ��) <7<5D5=<O E<?O ?>EF>O==>7> F>>4
?> F5?< >27 � (�)>

9.28.1 -?O <7<5D5=<O E<?O ?>EF>O==>7> F>>4 ?> F5?< >27 � (�)> E>5D4FL EE5<G 6 E>>F-
65FEF6<< E D<EG=>>< 91. .-?O G57>, =4 ?G?LF5 ?D>65D>< ?>4>JING<FL, E>5?N44O ?>JlOD=>EFL:

- (+) =47DG7>< > >?5<<5 >27 � (�)>;

- (-) LG=F4 F>>>6>7> > >?5<<5 >0 %-�>;
- E>54<=<FL <564G E>5>= (_) =47DG7>< < (+) LG=F4 F>>>6>7>.
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E< D<-750.9500-0 <?

9.28.2 'EF4=>6<FL M?5>FD>==G> =47DG7>G 6 D56<< EF45<?<74F<< ?> F>>G (44?55 -
<%.%.>) < 7=4G5=<5 E<?O ?>EF>O==>7> F>>4 0,1 � E>7?4E=> DG>>6>4EF6G ?> M>E??G4F4F<<.

9.28.4 �O?>?=<FL E<EF5<>= <7<5D5=<5 E<?O ?>EF>O==>7> F>>4 ?> F5?< <27 � (�)>. fuO
G57>:

- >GDE>D>< < ?56>= >?46<L5= (<OL<)) =464FL 6<DFG:r?L=GN >=>?>G KKl> (�>?. �<F),
6 E>>F65FEF6<< E D<EG=>>< l4;

- >GDE>D>< < ?56>= >?46<L5= <<OL<>> =464FL 6<DFG:r?L=},N >=>?>G <�3> (�%), >=>?-
>4 747>D<FEO 6 E>>F65FEF6<< E D<EG=>>< 57;

- ?>4>JlNG<FL =47DG7>G E>7?4E=> D}>>6>4EF6G ?> M>E?Jry4F4F<<;
- >GDE>D>< < ?56>= >?46<L5= (<OL<) =464FL 6<DFGrr?L=GN >=>?>G <�7<5D<FL 7?4-

G5=<5), 6 E>>F65FEF6<< E D<EG=>>< l7.
9.28.5 � >>=5 ?D>7D4<<O <&>><> 6 >>=5 >27� �> < =4 4<E??55 LG=F4 6OE65F<FEO <7<5-

D5==>5 7=4G5=<5 E<?O ?>EF>O==>7> F>>4. �>?GG5==O5 D57G?LF4FO <7<5D5=<= 6=5EF< 6 ?D>F>>>?
<&45",l<F4 �.27>.

9.28.6 %=OFL =47DG7>G E>7?4E=> DG>>6>4EF6G ?> M>E??G4F4F<<.
9.28.7 %=OFL =4?DO65=<5 E E<EF5<O <7<5D<F5?L=>=, =4646 >=>?>G (�3) (�%).
9.28.8 �4 =47DG7>5 >D74=4<< G?D46?5=<O ?>E?54>64F5?L=> GEFzl=>6<FL 7=4G5=<5 E<?O

?>EF>O==>7> F>>4 2.0 < 5.0 �.
9.28.9 �?O >464>7> GEF4=>6?5==>7> 7=4G5=<O 6O?>?=<FL <7<5D5=<5 6 E>>F65FEF6<< E

<5F>4<>>= ?.?. 9.28.4 - 9.28.7.
9.28.10 �5=G?<FL ?>>474=<O E<EF5<O. !?O G57> 6 E>>F65FEF6<< E D<EG=>>< 38.

9.29 �?D5?5?5=<5 ?D<6545==>= ?>7D5L=>EF< (> ��) <7<5D5=<O E<JIO ?>EF>O==>7> F>>4
?> F5?< <27 �-2 (>)>

9.29.1 �?O <7<5D5=<O E<?O ?>EF>O==>7> F>>4 ?> F5?< <27 �-2 (>)> E>5D4FL EE5<G 6 E>-
>F65FEF6<< E D<EG=>>< 92. fl?O G57>. =4 ?G?LF5 ?D>65D>< ?>4>JING<FL, E>5?N44O ?>?OD=>EFL:

- (-) =47DG7>< > >?5<<5 >0 �-2 (>)>;

- ((+)) LG=F4 F>>>6>7> > >?5<<5 <27 �-2 (>)>;

- E>54<=<FL <564G E>5>= (+) =47DG7>< < (-) LG=F4 F>>>6>7>.

$<EG=>> 92 - %E5<4 <7<5D5=<O E<?O ?>EF>O==>7> F>>4 ?> F5?< >27 �-2 (>)>

9.29.2 -?5>FD>==.L =47DG7>4 6 D56<<5 EF45<?<74F<< ?> F>>G.
9.29.3 �4 =47DG7>5 >D74=4<< G?D46?5=<O GEF4=>6<FL 7=4G5=<5 E<?O ?>EF>O==>7> F>>4

0.1 �,
9.29.4 �O?>?=<FL E<EF5<>= <7<5D5=<5 E<?O ?>EF>O==>7> F>>4 ?> F5?< <27 �-2 (K)t. fuO

G57>:
- 6 >>=5 ?D>7D4<<O <'?D46?5=<5 D5?5) =464FL 6<Dry4JIL=GN >=>?>G <�7> (��), 6 E>-

>F65FEF6<< E D<EG=>>< 59,
- ?>4>?NG<FL =47DG7>G;
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E< D<-760.9500-0 <?

- >GDE>D>< < ?56>= >?46<L5= ((<OL<) =464FL 6<DFG4JIL=}.N >=>?>G (�7<5D<FL 7=4-
G5=<5), 6 E>>F65FEF6<< E D<EG=>>< l7.

9.29.5 � >>=5 ?D>7D4N{<O (&>><) 6 >>=5 (27 �-2 (>)> < =4 4<E??55 ?ry=F4 6OE65F<FEO
���5$5�=�5 7=4G5=<5 E<?O ?>EF>O==>7> F>>4. �>?GG5==O5 D57G?LF4FO <7<5D5=<= 6=5EF< 6 ?D>-
F>>>? >&45?<F4 �.28>.

9.29.6 %=OFL =47DG7>G.
9.29.7 %=OFL =4?DO65rt<5 E E<EF5<O <7<5D<F5?L=>=, =4646 >=>?>G (�7) (��).
9.29.8 �4 =47DG7>5 ?>E?54>64F5?L=> GEF4=>6<FL 7=4G5=<5 E<?O ?>EF>O==>7> F>>4 2,0 <

5,0 �.
9.29.9 fuO >464>7> GEF4=>6?5==>7> 7=4G5=<O 6LL>?=<FN 45=EF6<O 6 E>>F65FEF6<< E <5_

F>4<>>= ?.?. 9.29 .4 - 9 .29 .'7 _

9.29. 10 �5=G?<FL ?>>4?4=<O E<EF5<O 6 E>>F65FEF6<< E D<EG=>>< 38.

9.30 ��$545?5=<5 ?D<6545==>= ?>7D5L=>EF< (> ��) <7<5D5=<O E<?O ?>EF>O==>7> F>>4
?> F5?< (27 � %-�>>

9.30.1 �?O <7<5D5=<O E<?O ?>EF>O==>7> F>>4 ?> F5?< >27 � %-�> E>5D4FL EE5<G 6 E>-
>F65FEF6<< E D<EG=>>< 93. fl?O G57>, =4 ?G?LF5 ?D>65D>< ?>4>?NG<FL, E>5?N44O ?>?OD=>EFL:

_ ((+)) =47DG7>< > >?5<<5 >27 � %-�>;
. ((-) LG=F4 F>>>6>7> > >?5<<5 <0 � %-�>;
- E>54<=<FL <564G E>5>= (-) =47DG7>< < (+) LG=F4 F>>>6>7>.

9.30.2 -?5>FD>==rul =47DG7>4 6 D56<<5 EF45<?<74F<< ?> F>>G.
9.30.� �4 =47DG7>5 >D74=4<< G?D46?5=<O GEF4=>6<FL 7=4G5=<5 E<?O ?>EF>O==>7> F>>4

0.1 �.
9.�0.4 �O?>?=<FL E<EF5?r>= <7<5D5=<5 E<?O ?>EF>O==>7> F>>4 ?> F5?< (27 � %-�).

!?O G57>:
- 6 >>=5 ?D>7D4<<O >'?D46?5=<5 D5?5) =464FL 6<DFGil?L=GN >=>?>G (�4) (�%�), 6

E>>l 65 7EF6<< E D<El=>>< 2j:
- ?>4>?NG<FL =47DG7>G;
- >GDE>D>< < ?56>= >?46<L5= ((<OL<) =464FL 6<DFG4?L=Gr> >=>?>G <�7<5D<FL 7=4-

G5=<5), 6 E>>F65FEF6<< E D<EG=>>< l7.
9.�0.5 � >>=5 ?D>7D4<<O <<&>><> 6 >>=5 <27 � %-�) < =4 4<E??55 L).=F4 6OE65F<FEO

<7<5D5==>5 7=4G5=<5 E<?O ?>EF>O==>7> F>>4. �>?GG5==O= D57G?LF4F <7<5D5=<= 6=5EF< 6 ?D>F>_
>>? >&45?<F4 �.29>.

9,30.6 %=OFL =47DG7>G.
9.30.7 %=OFL =4?DO65=<5 E E<EF5<O <7<5D<F5?L=>=, =$>46 >=>?>G (�4) (�%�).
9.30.8 �4 =47DG7>5 >D74=4<< G?D46?5=<O ?>E?54>64F5?L=> GEF4=>6<FL 7=4G5=<5 E<?O

?>EF>O==>7> F>>4 2.0 < 5,0 �.
9.30.9 !?O >464>7> GEF4=>6?5==>7> 7=4G5=<O 6O?>?=<FL 45=EF6<O 6 E>>F65FEF6<< E <5-

F>4<>>= ?.?. 9.30,4 - 9.70.7.
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9.30.10 �5=G?<FL ?>>474=<O E<EF5<O 6 E>>F65FEF6<< E D<ElN>>< 38.

9.3l �?D5?5?5=<5 ?D<6545==>= ?>7D5L=>EF< (> ��) <7<5D5=<O E<?O ?>EF>O=�>7> F>>4
?> F5?< >-27 � %-�>

9.3 1.1 �?O <7<5D5=<O E<?O ?>EF>O}t=>7> F>>4 ?> F5?< (-27 � %-�D E>5D4FL EE5<G 6 E>-
>F65FEF6<< E D<EG=>>< 94. fl?O G57>. =4 ?G?LF5 ?D>65D>< ?>4>JING<FL, E>5?N4< ?>?OD=>EFL:

- (-) =47DG7>< > >JI5<<5 >-20 � %-�>;
- ((+)) LG=F4 F>>>6>7> > >?5<<5 <0 � %-�>;
- E>54<=<FL <56?G E>5>= (+) =47DG7>< < ((-D LG=F4 F>>>6>7>.

9.31.2 -?5>FD>==iu =47DG7>4 6 D56<<5 EF45<?<74F<< ?> F>>G.
9.31.3 �4 =47DG7>5 >D74=4<< G?D46?5=<O GEF4=>6<FL 7O4G5=<5 E<?O ?>EF>O==>7> F>>4

0,1 �.
9.31.4 �O?>?=<FL E<EF5<>= <7<5D5=<5 E<?O ?>EF>O==>7> F>>4 ?> F5?< (-27 � %-�).

.-?O G57>:
- 6 >>=5 ?D>7D4<<O >'?D46?5=<5 D5?5l> =464FL 6<DFG4?L=GN >=>?>G <�4> (�%�), 6

E>>F65FEF6<< E D<EG=>>< 5l:
- ?>4>?NG<FL =47DG7>G;
- >GDE>D>< < ?56>= >?46<L5= (<OL<D =464FL 6<DFG4?L=},N >=>?>G <�7<5D<FL 7=4-

G5=<5), 6 E>>F65FEF6<< E D<EG=>>< l7.

$<EG=>> 94 - %E5<4 <7<5D5=<O E<?O ?>EF>O==>7> F>>4 ?> F5?< >-27 � %-�)

9.3l .5 � >>=5 ?D>7D4Nl<O <&>><> 6 >>=5 <-27 � %-�) < =4 4<E??55 LG=F4 6OE65F<FEO
<7<5D5==>5 7=4G5=<5 E<?O ?>EF>O==>7> F>>4. �>?GG5==O= D57G?LF4F <7<5D5=<= 6=5EF< 6 ?D>F>-
>>? >&45?<F4 �.30>.

9.� 1.6 %=OFL =47DG7>G.
9.3l .7 %=OFL =4?DO65=<5 E E<EF5<O <7<5D<F5?L=>=, HalK:lB >=>?>G >�4> (�%�).
9.31.8 �4 =47DG7>5 >D74=4<< G?D46?5=<O ?>E?54>64F5?L=> GEF4=>6<FL 7=4G5=<5 E<?O

?>EF>O==>7> F>>4 2,0 < 5,0 �.
9.3l .9 �?O >464>7> GEF4=>6?5==>7> 7=4G5=<O 6O?>?=<FL 45=EF6<O 6 E>>F65FEF6<< E <5-

F>4<>>= ?.?. 9.� l .4 - 9.3 1.7.

9.31.10 �5=G?<FL ?>>474=<O E<EF5<O 6 E>>F65FEF6<< E D<EG=>>< 38.

9.�2 �?D5?5?5=<5 ?D<65?5==>= ?>7D5L=>EF< (> ��) <7<5D5=<O E<?O ?>EF>O==>7> F>�4

?> F5?< >20 � %-�>
9.�2.1 �?O <7<5D5=<O E<?O ?>EF>O==>7> F>>4 ?> F5?< (20 � %-�) E>5D4FL EE5<G 6 E>-

>F65FEF6<< E D<EG=>>< 95. !?O G57>, =4 ?G?LF5 ?D>65D>< ?>4>JING<FL, E>5?N44O ?>?OD�>EFL:

- (+) =47DG7>< > >?5<<5 >20 � %-�>;
- (GD LG=F4 F>>>6>7> > >?5<<5 <0 � %-�>;
- E>54<=<FL <564G E>5>= (-) =47DG7>< < (+) LG=F4 F>>>6>7>.

9.32.2 -?5>FD>==iul =47DG7>4 6 D56<<5 EF45<?<74F<< ?> F>>G.
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$<EG=>> 95 - %E5<4 <7<5D5=<O E<?O ?>EF>O==>7> F>>4 ?> F5?< <20 � %-�)

9.�2.3 �4 =47DG7>5 >D74=4<< G?D46?5=<O GEF4=>6<FL 7=4G5�<5 E<?O ?>EF>O==>7> F>>4
0,1 �.

9.32,4 �O?>?=<FL E<EF5<>= <7<5D5=<5 E<?O ?>EF>O==>7> F>>4 ?> F5?< (20 � %-�).
,-?O G57>:

- 6 >>=5 ?D>7D4<<O <'?D46?5=<5 D5?5)) =464FL 6<DFGrl?L=},N >=>?>G >�4> (�%�), 6
E>>F65FEF6<< E D<EG=>>< 5ll

- ?>4>?NG<FL =47DG7>G;
- >GDE>D>< < ?56>= >?46<L5= (<OL<) =464FL 6<DFG4?L=lF> >=>?>G <�7<5D<FL 7=4-

G5=<5), 6 E>>F65FEF6<< E D<EG=>>< l7.
9.32.5 � >>=5 ?D>7D4<<O >&>><> 6 >>=5 >20 � %-�) < =4 4<E??55 LG=F4 6OE65F<FEO

<7<5D5==>5 7=4G5=<5 E<?O ?>EF>O==>7> F>>4- �>?GG5==O= D57G?LF4F <7<5D5=<= 6�5EF< 6 ?D>F>-
>>? >&45?<F4 �.31>.

9.32.6 %=OFL =47DG7>G.
9.32.7 %=OFL =4l?DO65=<5 E E<EF5<O <7<5D<F5?L=>=, =46z6 >=>?>G (K4D (�%�).
9.32.8 �4 =47DG7>5 >D7zl=4<< G?D46?5=<O ?>E?54>64F5?L=> GEF4=>6<FL 7=4G5=<5 E<?O

?>EF>O==>7> F>>4 2,0 < 5,0 �.
9 -32-9 �?O >464>7> GEF4=>6?5==>7> 7=4G5=<O 6LL>??<FL 45=EF6<O 6 E>>F65FEF6<< E <5-

F>4<>>= ?.?. 9.32.4 - 9.�2.7 .

9.32.10 �5=G?<FL ?>>474=<O E<EF5<O 6 E>>F65FEF6<< E D<EGN>>< 38.

9.33 �?D5?5?5=<5 ?D<6545==>= ?>7D5L=>EF< (> ��) <7<5D5=<O E<?O ?>EF>O==>7> F>>4
?> F5?< >-20 � %-�>

9.�3.1 �?O <7<5D5=<O E<?O ?>EF>O==>7> F>>4 ?> F5?< (-20 � %-�) E>5D4FL EE5<G 6 E>-
>F65FEF6<< E D<EG=>>< 96. �?O G57>, =4 ?G?LF5 ?D>65D>< ?>4>JING<FL, E>5?N44O ?>?OD=>EFL:

- (_) =47DG7>< > >?5<<5 <-20 � %-�>;
- ((+)) LG=F4 F>>>6>7> > >?5<<5 >0 � %-�>;
- E>54<=<FL <564G E>5>= (+) =47DG7>< < (-)) L).=F4 F>>>6>7>.
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9.33.2 -?5>FD>==4O =47DG7>4 6 D56<<5 EF45<?<74F<< ?> F>>G.
9,33.3 �4 =47DG7>5 >D74=4<< G?D46?5=<O GEF4=>6<FL 7�4G5=<5 E<?O ?>EF>O==>7> F>>4

0,1 �.
9.33.4 �O?>?=<FL E<EF5<>= <7<5D5=<5 E<?O ?>EF>O==>7> F>>4 ?> F5?< (-20 � %-�).

.-?O G57>:
- 6 >>=5 ?D>7D4<<O >'?D46?5=<5 D5?5) HiDKaTb 6<DFG4?L=GN >?>?>G <�4> (�%�), 6

E>>F65FEF6<< E D<EG=>>< 5l;
_ ?>4>?NG<FL =47DG7>G;
- >GDE>D>< < ?56>= >JI46<L5= (<OL<) H:D(aTb 6<DFG4?L=GN >=>?>G <�7<5D<FL 7=4-

G5=<5), 6 E>>F65FEF6<< E D<EG=>>< l7.
9.33.5 � >>=5 ?D>7D4<<O <&>><> 6 >>=5 >-20 � %-�) < =4 4<E??55 LG=F4 6OE65F<FEO

<7<5D5==>5 7=4G5=<5 E<?O ?>EF>O==>7> F>>4. �>?GG5==O= D57G?LF4F <7<5D5=<= 6=5EF< 6 ?D>F>-
>>? >&45?<F4 �.32>.

9.33.6 %=OFL =47DG7>G.
9.33.7 %=OFL =4?DO65=<5 E E<EF5<O <7<5D<F5?L=>=, =46il6 >=>?>G >�4> (�%�).
9.33.8 �4 =47DG7>5 >D74=4<< G?D46?5=<O ?>E?54>64F5?L=> GEF4=>6<FL 7=4G5=<5 E<?O

?>EF>O==>7> F>>4 2,0 < 5,0 �.
9,33.8 !-?O >464>7> GEF4=>6;]5==>7> 7=4G5=<O 6O?>?=<FL 45=EF6<O 6 E>>F65FEF6<< E <5-

F>,r<>>= ?.?. 9.33.4 - 9.77.'7.
9.33.9 �5=G?<FL ?>>474=<O E<EF5<O 6 E>>F65FEF6<< E D<ElN>>< 38-

9.34 �?D5?5?5=<5 ?D<6545==>= ?>7D5L=>EF< (> ��) <7<5D5=<O E<?O ?>EF>O==>7> F>>4
?> F5?< <20 � (>)>

9.34.1 �?O <7<5D5=<O E<?O ?>EF>O==>7> F>>4 ?> F5?< <27 � (>)> E>5D4FL EE5<G 6 E>>F-
65FEF6<< E D<EG=>>< 97..-?O G57>, =4 ?G?LF5 ?D>65D>< ?>4>?NG<FL, E>5?>44O ?>?OD=>EFL:

_ (+)) =47DG7>< > >?5<<5 >20 � (>)>;

- (-) LG=F4 F>>>6>7> > >JI5<<5 <0 � (>)>;

- E>54<=<FL <564G E>5>= (-) =47DG7>< < (+) LG=F4 F>>>6>7>.
9.34.2 -?5>FD>==4rl =47DG7>4 6 D56<<5 EF45<?<74F<< ?> F>>G.
9.34.3 �4 =47DG7>5 >D74=4<< G?D46?5=<O GEF4=>6<FL 7=4G5=<5 E<?O ?>EF>O==>7> F>>4

0.1 �.
9.34.4 �O?>?=<FL E<EF5<>= <7<5D5=<5 E<?O ?>EF>O==>7> F>>4 ?> F5?< <20 � (>)>. �?O

G57>:
- 6 >>=5 ?D>7D4<<O <'?D46?5=<5 D5?5) =464FL 6<DFG4?L=GN >=>?>G <�7> (��), 6 E>-

>F65FEF6<< E D<EG=>>< 59;
- ?>4>?NG<FL =47DG7>G;
- >GDE>D>< < ?56>= >?46<L5= (<OL<) =464FL 6<DFG4?L=GN >=>?>G >�7<5D<FL 7=4-

G5=<5)J 6 E>>F65FEF6<< E D<EG=>>< l7.
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9.34.5 � >>=5 ?D>7D4<<O (&>><) 6 >>=5 (20 � (>)> < =4 4<E??55 LG=F4 6OE65F<FEO <7-
�5$5���5 �=4G5=<5 E<?O ?>EF>O==>7> F>>4. �>?GG5==O= D57G?LF4F <7<5D5=<= 6=5EF< 6 ?D>F>-
>>? <&45?<F4 �.33>.

9.34.6 %=OFL =47DG7>G.
9.34.7 %=OFL =4?DO65=<5 E E<EF5<O <7<5D<F5?L=>=, =4646 >=>?>G (�7) (��).
9.34.8 �4 �4�$G7>5 >D74=zl<< G?D46?5=<O ?>E?54>64F5?L=> GEF4=>6<FL 7It4G5=<5 E<?O

?>EF>O==>7> F>>4 2,0 < 5,0 �.
9.34.9 !�/ �4���7� GEF4=>6?5==>7> 7=4G5=<O 6O?>?=<FL 45=EF6<O 6 E>>F65FEF6<< E <5-

F>4<>>= ?.?. 9.34.4 - 9.74.7,
9.34.10 �5=G?<FL ?>>474=<O E<EF5<O 6 E>>F65FEF6<< E D<EG=>>< 38.
9.�5 �?D545?5=<5 ?D<6545==>= ?>7D5L=>EF< (> ��) <7<5D5=<O E<?O ?>EF>O==>7> F>>4

?> F5?< <-20 � (>)>

9.35.1 �?O <7<5D5=<O E<?O ?>EF>O==>7> F>>4 ?> F5?< <-20 � (>)> E>5D4FL EE5<G 6 E>>F-
65FEF6<< E D<EG=>>< 98..-?O G57>, =4 ?G?LF5 ?D>65D>< ?>4>JING<FL, E>5?N44O ?>JIOD=>EFN:

- (-) =47DG7>< > >?5<<5 <-20 � (>)>;
- ((+) LG=F4 F>>>6>7> > >?5<<5 >0 � (>)>;
- E>54<=<FL <564G E>5>= ((+) =47DG7>< < (-) LG=F4 F>>>6>7>.

$<EG=>> 98 - %E5<4 <7<5D5=<O E<?O ?>EF>O==>7> F>>4 ?> F5?< (-20 � (>))

9.35.2 -?5>FD>==L =47DG7>4 6 D56<<5 EF45<?<74F<< ?> F>>G.
9.35.3 �4 =47DG7>5 >D74=4<< G?D46?5=<O GEF4=>6<FL 7=4G5=<5 E<?O ?>EF>O==>7> F>>4

0,1 �.
9.35.4 �LL>?=<FL E<EF5<>= <7<5D5=<5 E<?O ?>EF>O==>7> F>>4 ?> F5?< <-20 � (>)>. .-.7rO

G57>:
- 6 >>=5 ?D>7D4<<O <'?D46?5=<5 D5?5) =464FL 6<DFG4?L=},N >=>?>G <�7> (��) 6 E>-

>F65FEF6<< E D<EG=>>< 59;
- ?>4>?NG<FL =47DG7>G;
- >GDE>D>< < ?56>= >?46<L5= (<OL<)) =464FL 6<DFGzr?L=GN >=>?>G <�7<5D<FL 7=4-

G5=<5), 6 E>>F65FEF6<< E D<EG=>>< 17.

9.35.5 � >>=5 ?D>7D4<<O >&>>=> 6 >>=5 <-20 � (>)> < =4 4<E??55 LG=F4 6OE65F<FEO <7-
<5D5==>5 7=4G5=<5 E<?O ?>EF>O==>7> F>>4. �>?GG5==O= D57G?LF4F <7<5D5=<= 6=5EF< 6 ?D>F>-
Ko-r >&45?<F4 �.�4>.

9.�5.6 %=OFL =47DG7>G.
9.35.7 %=OFL =4?DO65=<5 E E<EF5<O <7<5D<F5?L=>=, �4646 >=>?>G (�7) (��).
9.35.8 �4 =47DG7>5 >D74=4<< G?D46?5=<O ?>E?54>64F5?L=> GEF4=>6<FL 7=4G5=<5 E<?O

?>EF>O==>7> F>>4 2.0 < 5,0 �.
9.35.9 fl-,rO >464>7> GEF4=>6?5==>7> 7=4G5=<O 6O?>?=<FL 45=EF6<O 6 E>>F65FEF6<< E <5-

F>4<>>= ?.?. 9.35.4 - 9.75.7.
9.35,10 �5=G?<FL ?>>474=<O E<EF5<O 6 E>>F65FEF6<< E D<EGN>>< 38.

D

$ >

$ $

$

$

,laa E t'i Er1 ,aa . ]ia crl ,ra 6 .{6 ( r?rla d? -4 l

>>$@
ý,q

@'r
_a!>

$$ $

{�MM

F>>>6L=L

57



E< D<_750.9500-0 <?

9.36 >?D545?5=<5 ?D<6545==>= ?>7D5L=>EF< (> �?) <7<5D5=<O E<?O ?>EF>O==>7> F>>4
?> F5?< >40 � (>)>

9.35.l �?O <7<5D5=<O E<?O ?>EF>O==>7> F>>4 ?> F5?< <40 � (>)> E>5D4FL EE5<G 6 E>>F-
65FEF6<< E D<EG=>>< 99. !?O G57>, =4 ?G?LF5 ?D>65D>< ?>4>JING<FL, E>5?N4< ?>?OD=>EFL:

- ((+) =47DG7>< > >?5<<5 <40 � (>)>;

- ((-) LG=F4 F>>>6>7> > >?5<<5 >0 � (>)>;

- E>54<=<FL <564G E>5>= (-) =47DG7>< < (+D LG=F4 F>>>6>7>.

>> @ $$@@@@
-1 }.r ?a i 5 -li > E? lq!E 9a,

'!; 4 $ $$$

$<EG=>> 99 - %E5<4 <7<5D5=<O E<?O ?>EF>O==>7> F>>4 ?> F5?< >40 � (>)>

9.35,2 -?5>FD>==4O =47DG]>4 6 D56<<5 EF45<?<74I<< ?> F>>G.
9.j6.3 �4 =47DG7>5 >D74=4<< G?D46?5=<O yEF4=>6<FL 7=4G5=<5 E<?O ?>EF>OOO>7> F>>4

0,1A.
9.36.4 �O?>?=<FL E<EF5<>= <7<5D5=<5 E<?O ?>EF>O==>7> F>>4 ?> F5?< <40 � (>)>. fuO

G57>:
- 6 >>=5 ?D>7D4<<O >'?D46?5=<5 D5?5) =464FL 6<DFG4?L=G> >=>?>G <�7> (��), 6 E>-

>F65FEF6<< E D<ElN>>< 59;

- ?>4>?NG<FL =47DG7>G;
- >GDE>D>< < ?56>= >.,t46<L5= (<OL<) =464FL 6<DFG4?L=},N >=>?>G >�7<5D<FL 7=4-

G5=<5D, 6 E>>F65FEF6<< E D<EG=>>< l7.
9.36.5 � >>=5 ?D>7D4<<O <&>><> 6 >>=5 <40 � (>)> < =4 4<E??55 LG=F4 6OE65F<FEO <7-

<5D5==>5 7=4G5=<5 E<?O ?>EF>O==>7> F>>4. �>?Gr5==O= D57G?LF4F <7<5D5=<= 6=5EF< 6 ?DF>-
>>? <&45?<F4 �.35>.

9.35.6 %=OFL =47DG7>G.
9.36.7 %=OFL =4?DO65=<5 E E<EF5<O <7<5D<F5?L=>=, =4646 >=>?>G (�7) (��).

9.36.8 �4 =47DG7>5 >D74=ar<< G?D46?5=<O ?>E?54>64F5?L=> GEF4=>6<FL 7=4G5=<5 E<?O
?>EF>O==>7> F>>4 2,0 < 5,0 �.

9.36.9 �?O >4r(4>7> GEF4=>6?5==>7> 7=4G5=<O 6LL>?=<FL 45=EF6<O 6 E>>F65FEF6<< E <5-

F>4<>>= ?.?. 9.35.4 - 9.35.7.

9.36.10 �5=G?<FL ?>>474=<O E<EF5<O 6 E>>F65FEF6<< E D<EG=>>< 38.

9.37 �?D545?5=<5 ?D<6545==>= ?>7D5L=>EF< (> ��) <7<5D5=<O E<?O ?>EF>O==>7> F>>4
?> F5?< <-40 � (>)>

9.37.1 fuO <7<5D5=<O E<?O ?>EF>O==>7> F>>4 ?> F5?< <40 � (>)> E>5D4FL EE5<G 6 E>>F-
65FEF6<< E D<EG=>>< l00. �?O G57>, �4 ?G?LF5 ?D>65D>< ?>4>?NG<FL, E>5?N44O ?>Ju{D=>EFL:

- (-) =47DG7>< > >?5<<5 >-40 � (>)>;

- (+) LG=F4 F>>>6>7> > >?5<<5 >0 � (>)>;

- E>54<=<FL <56?G E>5>= (+D =47DGJ>< < (-) LG=F4 F>>>6>7>.

9.37.2 -?5>FD>==irO =47DG7>4 6 D56<<5 EF45<?<74F<< ?> F>>G.

9.37.3 �4 =47DG7>5 >D74=4<< G?D46?5=<O GEF4=>6<FL 7=4G5=<5 E<?O ?>EF>O==>7> F>>4
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-1lo

4a E 4a -4a> > crl l$N,E >aa,

Fa E ,? Crr ,>a ? aqa cn llt Gil _.ý > _rL crl -iEa ,( 4Ea >| ,| -4
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f;0 @ $MG

$<EG=>> l 00 - %E5<4 <7<5D5=<O E<?O ?>EF>O==>7> F>>4 ?> G5?< <-40 � (>)>

9.37.4 �O?>?=<FL E<EF5<>= <7<5D5=<5 E<?O ?>EF>O==>7> F>>4 ?> F5?< <-40 � (>)>. ,-.?O

G57>:
- 6 >>=5 ?D>7D4<<O >'?D46?5=<5 D5?5) =464FL 6<DFGrr?L=GN >=>?>G <�7>, (��) 6 E>-

>F65FEF6<< E D<EG=>>< 5l;
_ ?>4>?>)G<FL =47DG7>G;
- >GDE>D>< < ?56>= >?46<L5= (<OL<) =464FL 6<DFGzr?L=GN >=>?>G <�7<5D<FL 7=4-

G5=<5), 6 E>>F65FEF6<< E D<Elrr>>< l7.
9.37.5 � >>=5 ?D>7D4<<O <<&>><> 6 >>=5 >-40 � (>)> < =4 4<E??55 LG=F4 6OE65F<FEO <7-

<5D5==>5 7=4G5=<5 E<?O ?>EF>O==>7> F>>4. �>?GG5==O= D57G?LF4F <7<5D5=<= 6�5EF< 6 ?D�F>-

>>? >&45?<F4 �.36>.

9.37.6 %=OFL =47DG7>G.
9.37.7 %=OFL =4?DO656<5 E E<EF5<O <7<5D<F5?L=>=, =4646 >=>?>G (�7) (��).

9.37.8 �4 =47DG7>5 >D74=4<< G?D46?5=<O ?>E?54>64F5?L=> GEFGt=>6<FL 7=4G5=<5 E<?O
?>EF>O==>7> F>>4 2,0 < 5,0 �.

9.37.9 !?O >464>7> GEF4=>6?5==>7> 7=4G5=<O 6O?>?=<FL 45�EF6<O 6 E>>F65FEF6<< E <5-

F>4< >>= ?,?. 9 .�'7 .4 - 9 .7'7 .7 .

9.37.10 �5=G?<FL ?>>474=<O E<EF5<O 6 E>>F65FEF6<< E D<EG=>>< 38,

9.38 �?D545?5=<5 ?D<6545==>= ?>7D5L=>EF< (> ��) <7<5D5=<O E<?O ?>EF>O==>7> F>>4
?> F5?< >27 �-�?.2>

9.38.1 fuO <7<5D5=<O E<?O ?>EF>O==>7> F>>4 ?> F5?< <27 �-�?.2> E>5D4FL EE5<G 6 E>>F-
65FEF6<< E D<EG=>>< l 0l . fl?O G57>. =4 ?G?LF5 ?D>65D>< ?>4>?NG<FL, E>5?N44O ?>?OD=>EFL:

- (+D =47DG7>< > lcieMMe <27 �> =4 ?4=5?< >�?>> 2>;

- ((-) LG=F4 F>>>6>7> > >?5<<5 >0 �> =4 ?4=5?< >�?>> 2>>;

- E>5i<=<FL <56?G E>5>= (-) =47DG7>< < (+) LG=F4 F>>>6>7>.
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9.38.2 -?5>FD>==4O =47DG7>4 6 D56<<5 EF45<?<74F<< ?> F>>G.
9.38.3 �4 <EF>G=<>5 F+27 �-2G> GEF4=>6<FL =4?DO65=<5 ?>EF>O==>7> F>>4 27 �,
9.38.4 �4 =47DG7>5 >D74=4}r< G?D46?5=<O GEF4=>6<FL 7=4G5=<5 E<?O ?>EF>O==>7> F>>4

1,0 �.
9.38.5 �O?>?=<FL E<EF5<>= <7<5D5=<5 E<?O ?>EF>O==>7> F>>4 ?> F5?< >27 �-�?.2>. fuO

G57>:
- 6 >>=5 ?D>7D4<<O >'?D46?5=<5 D5?5)) =464FL 6<DFG:LL=}.N >=>?>G >�7> (��) 6 E>-

>F65FEF6<< E D<EG=>>< 59;
_ ?>4>?NG<FL =47DG7>G;
- >GDE>D>< < ?56>= >?46<L5= (<OL<>t HaDKaTb 6<DFGar?L=GN >=>?>G <�7<5D<FL 7=4-

G5=<5), 6 E>>F65FEF6<< E D<EG=>>< l7.
9.38.6 � >>=5 ?D>7D4<<O >&>><> 6 >>=5 (27 �-�?.2> < =4 4<E??55 LG=F4 6OE65F<FEO

<7<5D5==>5 7=4G5=<5 E<?O ?>EF>O==>7> F>>4. �>?GG5==O= D57G?LF4F <7<5D5=<= 6=5EF< 6 ?DF>-
>>? <&45?<F4 �.37>.

9.38.7 %=OFL =47DG7>G E>7?4E=>.
9.38.8 %=OFL =4?DO65=<5 E E<EF5<O <7<5D<F5?L=>=, =4646 >=>?>G >�7> (��).
9.38.9 �4 =47DG7>5 >D74=4<< G?D46?5=<O ?>E?54>64F5?L=> GEF4=>6<FL 7=4G5=<5 E<?O

?>EF>O==>7> F>>4 5,0 < l0,0 �.
9.38.10 �?O >464>7> GEF4=>6?5==>7> 7=4G5=<O 6O?>?ll<FL 45=EF6<O 6 E>>F65FEF6<< E

<5F>4<>>= ?. 9.38.5 - 9.78.8.
9.38.1 l �5=G;r<FL ?>>474=<O E<EF5<O 6 E>>F65FEF6<< E D<EG=>>< 38.

9.39 �?D5?5?5=<5 ?D<6545==>= ?>7D5L=>EF< (> ��) <7<5D5=<O E<?O ?>EF>O==>7> F>>4
?> F5?< <-27 �-�?.2>

9.39.1 �?O <7<5D5=<O E<?O ?>EF>O==>7> F>>4 ?> F5?< >-27 �-�?.2> E>5D4FL EE5<G 6 E>-
>F65FEF6<< E D<EG=>>< l02. �?O G57>. =4 ?G?LF5 ?D>65D>< ?>4>JING<FL, E>5?N44O ?>?OD=>EFL:

- (+)) =47DG7>< > >?5<<5 >0 �> =4 ?4=5?< <�?>> 2>;

- ((-) LG=F4 F>>>6>7> > >JI5<<5 <-27�> =4 ?4=5?< (�?>> 2D;

- E>54<=<FL <564G E>5>= (-)) =47DG7>< < (+) LG=F4 F>>>6>7>.

9.39.2 -?5>FD>==4O =47DG7>4 6 D56<<5 EF45<?<74F<< ?> F>>G.

9.39_3 �4 <EF>G=<>5 ?<F4=<O <-2'7 �-2r, GEF4=>6<FL =4?DO65=<5 ?>EF>O=6>7> F>>4 <<�'%

27 6.
9.39.4 �4 =47DG7>5 >D74=4<< G?D46?5=<O GEF4=>6<FL 7=4G5=<5 E<?O ?>EF>O==>7> F>>4

1-0 �.
9.39.5 �O?>?=<FL E<EF5<>= <7<5D5=<5 E<?O ?>EF>O==>7> F>>4 ?> F5?< <-27 �-�?.2>.
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9.40 �?D5?5?5=<5 ?D<6545==>= ?>7D5L=>EF< (> �?) <7<5D5=<O E<?O ?>EF>OO=>7> F>>4

?> F5?< >27 �-�?.5>
9.40.1 �O <7<5D5=<O E<?O ?>EF>O==>7> F>>4 ?> F5?< (27 �-�?.5> E>5D4FL EE5<G 6 E>>F-

65FEF6<< E D<E}N>>< l03. fuO G57>, =4 ?G?LF5 ?D>65D>< ?>4>?NG<FN, E>5?N44O ?>?OD�>EFN:

- (+) =47DG7>< > >?5<<5 <27 �> =4 ?4=5?< >�?>> 6>>;

- ((-)) LG=F4 F>>>6>7> > >?5<<5 <0 �> =4 ?4=5?< >�?>> 5>;

- E>54<=<FL <564G E>5>= (-) =47DG7>< < (+)) LG=F4 F>>>6>7>.

$<EG=>> l 03 - %E5<4 <7<5D5=<O E<?O ?>EF>O==>7> F>>4 ?> F5?< >27 �-�?,6>

9.40.2 -?5>FD>==4ri =47DG7>4 6 D56<<5 EF45<?<74F<< ?> F>>G.

9.40.3 �4 ,"io"""*" (+27 �-6) GEF4=>6<FL =4?DO65=<5 ?>EF>O==>7> F>>427 �,

9.40.4 �4 =47DG7>5 >D74=4<< G?D46?5=<O GEF4=>6<FL 7=4G5=<5 E<?O ?>EF>O==>7> F>>4

9.40.5 �O?>?=<FL E<EF5<>= <7<5D5=<5 E<?O ?>EF>O�=>7> F>>4 ?> F5?< >27 �-�?.6>. !.?O

G57>:
- 6 >>=5 ?D>7D4J\{<O >'?D46?5=<5 D5?5)) =464FL 6<DFG4?L=}N >=>?>G <�7> (��) 6 E>-

>F65FEF6<< E D<EG=>>< 59,
- ?>4>?NG<FL =47DG7>G;
- >GDE>D>< < ,rt56>= >?46<L5= (<OL<)) =464FL 6<DFG4?L=GN >=>?>G <�7<5D<FL 7=4-

G5=<5). 6 E>>F65FEF6<< E D<EG=>>< l7-
9.40.5 � >>=5 ?D>7D4<<O >&>><> 6 >>=5 (27� �?.6>> < =4 4<E??55 LG=F4 6OE65F<FEO <7-

<5D5==>5 7=4G5=<5 E<?O ?>EF>O==>7> F>>4. �>?D5==L= D57G?LFarF <7<5D5=<= 6=5EF< 6 ?D>F>-

>>? <&45?<F4 �.39>.
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- 6 >>=5 ?D>7D4<<O >'?D46?5=<5 D5?5) =464FL 6<DFGz??L=GN >=>?>G (�7) (��) 6 E>-

>F65FEF6<< E D<EG=>>< 59;

- ?>4>?NG<FL =47DG7>G;
- >GDE>D>< < ?56>= >?46<L5= (<OL<) =464FL 6<DFG4?L=GN >=>?>G <�7<5D<FL 7=4-
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l0.3.3 $57G?LF4FO ?>65D>< EG<F4FL ?>?>6<F5?L=O<<, 5E?< 7=4G5=<5 ?D<6545==>= ?>-

7D5L=>EF< <7<5D5=<= =4?DO65=<O ?>EF>O==>7> F>>4 E<EF5<>= ?> F5?< >27 � %M?> =4E>4<FEO 6

4>?GE>45<LtE ?D545?4E +3 %. 6 ?D>F<6=>< E.qGG45 E<EF5<4 5D4>G5FEO < =4?D46?O5FEO 6 D5<>6F.

l0.4 $4EG5F ?D<6545==>= (> ��) ?>7D5L=>EF< <7<5D5�<= =4?DO65=<O ?>EF>O?=>7> F>>4

?> F5?< (- 27 � E-�)
l0.4.1 �D<65?5==},N ?>7D5L=>EFL YU <7<5D5=<= =4?DO65=<O ?>EF>O=�>7> F>>4 ?> F5?<

(- 27 � %-�) 6OG<E?OFL ?> D>D<G?5 (l):
l0.4.2 $57G?LF4FO 6OG<E?5=<= 6=5EF< 6 ?D>F>>>? <&45?<F4 �.4>.

l0.4.3 $57G?LF4FO ?>65D>< EG<F4FL ?>?>6<F5?L=O<<, 5E?< 7=4G5=<5 ?D<6545==>= ?>-

7D5L=>EF< <7<5D5=<= =4?DO65=<O ?>EF>O==>7> F>>4 E<EF5<>= ?> F5?< (- 27 � %M?) =4E>4<FEO

6 4>?GE>45<OE ?D545?4E +- '>. � ?D>F<6=>< E?GG45 E<EF5<4 5D4>G5FEO < =4?D46JIO5FEO 6 D5<>=F.

l0.5 $4EG5F ?D<6545==>= (> �?) ?>7D5L=>EF< <7<5D5=<= =4?DO65=<O ?>EF>O==>7> F>>4

?> F5?< (20 � E-�,)
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l0.1 .2 $57G?LF4FO 6OG<E?5=<= 6=5EF< 6 ?D>F>>>? >&45?<F4 B.l >.

l1.1.3 $57G?LF4FO ?>65D>< EG<F4FL ?>?>6<F5?L=O<<, 5E?< 7=4G5=<5 ?D<6545==�� ��-

7D5lu=>EF< <7<5D5=<= =4?DOrfi5=<O ?>EF>O==>7> F>>4 E<EF5<>= ?> F5?< (27 � (�)D �4%���&%/ �

4>?GE>45<L6 ?D545?4E +3 7>. � ?D>F<6=>< E?GG45 E<EF5<4 5D4>G5FEO < =4?D46?O5FEO � D5<>�F.
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l0.5.1 �D<65:5==\,N ?>7D5L=>EFL YU <7<5D5=<= =4?DO65=<O ?>EF>O==>7> F>>4 ?> F5?<
(20 � %-�) 6OGtlE.:lO,7L ?> D>D<G?5 1l ):

l0.5.2 $57G?LF4FO 6OG<E?5=<= 6=5EF< 6 ?D>F>>>? <&45?<F4 �.5>.

l0.5.3 $57G?LF4FO ?>65D>< EG<F4FL ?>?>6<F5?L=O<<, 5E?< 7=4G5=<5 ?D<6545==>� ��-

7D5L=>EF< <7<5D5=<= =4?DO65=<O ?>EF>O==>7> F>>4 E<EF5<>= ?> F5?< (20 � %-�) =4E>�<F%O �

4>?GE>45<OE ?D545?4E *3 %. � ?D>F<6=>< E?GG45 E<EF5<4 5D4>G5FEO < =4?D46?O5FEO 6 D5<>=F.

l0.6 $4EG5F ?D<6545==>= (> ��) ?>7D5L=>EF< <7<5D5=<= =4?DO65=<O ?>EF>O==>7> F>>4

?> F5?< (- 20 � %-�))
l0.6.1 �D<65?5==}q> ?>7D5L=>EFL YU <7<5D5=<= =4?DO65=<O ?>EF>O==>7> F>>4 ?� &5��

<- 20 � %-�> 6OG<E?OFL ?> D>D<G?5 ( l ):
l0.6.2 $57G?LF4FO 6OG<E?5=<= 6=5EF< 6 ?D>F>>>? >&45?<F4 �.5>.

10.6.� $57G?LF4FO ?>65D>< EG<F4FL ?>?>6<F5?L=O<<, 5E?< 7=4G5=<5 ?D<6545==>� ?�-

7D5t?=>EF< <7<5D5=<= =4?DO65=<O ?>EF>O==>7> F>>4 E<EF5<>= ?> F5?< (- 20 � %-�)) �4%���&%/

6 4>?GE>45<LIE ?D545,{4E +3 %. � ?D>F<6=>Nl E??45 E<EF5<4 5D4>G5FEO < =4?D46JIO5FEO 6 D5<>=F.

l0.7 $4EG5F ?D<6545==>= (> ��) ?>7D5L=>EF< <7<5D5=<� =zt?DO65=<O ?>EF>O==>7> F>>4

?> F5?< <20 � (>)>

l0.7.1 �D<65?5==GN ?>7D5L=>EFL TU <7<5D5=<� =4?DO65=<O ?>EF>O==>7> &��4 �� &5��

>20 � (>)> 6OG<E?OFL ?> D>D<G?5 (l):
l0.7.2 $57G"rLF4FO 6OG<E,l5=<= 6=5EF< 6 ?D>F>>>? <&45?<F4 �.7>.

10.7.3 $57G?LF4FO ?>65D>< EG<F4FL ?>?>6<F5?L=O<<, 5E?< 7=4G5=<5 ?D<6545==>� ��-

7D5L=>EF< <7<5D5=<= =4?DO65=<O ?>EF>O==>7> F>>4 E<EF5<>= ?> F5?< <20 � (>)> =tlE>4<FEO 6

4>?GE>45<L6 ?D545?4E +� '>.� ?D>F<6=>< E?GG45 E<EF5<4 5D4>G5FEO < =4?D46?O5FEO 6 D5<>=F.

l0.8 $4EG5F ?D<6545==>= (> ��) ?>7D5L=>EF< <7<5D5=<� =4?DO65=<O ?>EF>O==>7> F>>4

?> F5?< <- 20 � (>)>

l0.8.1 �D<6545==lF> ?>7D5L=>EFL TU <7<5D5=<� =4?DO65=<O ?>EF>O==>7> F>>4 ?> F5?<

<- 20 � (>)> 6OG<E?OFL ?> D>D<G?5 ( l ):
l 0.8.2 $57G?LF4FO 6OG<E?5=<= 6=5EF< 6 ?D>F>>>? >&45?<F4 �.8>.

10.8.3 $57G?LF4FO ?>65D>< EG<F4FL ?>?>6<F5?L=LI<<, 5E?< 7=4G5=<5 ?D<6545==>= ?>-

7D5L=>EF< <7<5D5=<= =4?DO65=<O ?>EF>O==>7> F>>4 E<EF5<>= ?> F5?< >- 20 � (>)> =<>4<FEO 6

4>?GE>45<OE ?D545?4E *j %. � ?D>F<6=>< E?GG45 E<EF5<4 5D4>G5FEO < =4?D46?O5FEO 6 D5<>=F.

l0.9 $4EG5F ?D<6545==>= (> �?) ?>7D5L=>EF< <7<5D5=<= =4?DO65=<O ?>EF>O=?>7> F>>4

?> F5?< <40 � (>)>

l0.9.1 �D<65.?5==GN ?>7D5L=>EFL yu <7<5D5=<= =4?DO65=<O ?>EF>O==>7> F>>4 ?> F5?<

<40 � (>)> 6OG<E?OFL ?> D>D<G?5 (l):
l 0.9.2 $57G?LF4FO 6OG<E?5=<= 6=5EF< 6 ?D>F>>>? >&45?<F4 �.9>.

l0.9.� $57G.TLF4FLi ?>65D>< EG<F4FL ?>J>6<F5?L=O<<, 5E?< 7=4G5=<5 ?D<6545==>� ?>-

7D5L=>EF< <7<5D5=<= =4?DO65=<O ?>EF>O==>7> F>>4 E<EF5<>= ?> F5?< <40 � (>)> =urE>4<FEO 6

4>?GE>45<OE ?D545?4E +3 %. � ?D>F<6=>< E?GG45 E<EF5<4 5D4>G5FEO < =4?D46?O5FEO 6 D5<>=F.

l 0.1 0 $4EG5F ?D<6545==>= (> �?) ?>7D5L=>EF< <7<5D5=<= =4?DO>5=<O ?>EF>O==>7> F>-

>4 ?> F5?< <- 40 � (>)>

l0.t0.1 �D<65?5==GN ?>7D5L=>EFL yu <7<5D5=<= =4?DO65=<O ?>EF>O==>7> F>>4 ?> F5-

?< <- 40 � (>)> 6OG<E?OFL ?> D>D<G?5 (1):

l 0.10.2 $57G?LF4FO 6OG<E?5=<= 6=5EF< 6 ?D>F>>>? >&45?<F4 �. l0>.

l0.10.3 $57G?LF4FO ?>65D>< EG<F4FL ?>?>6<F5?L=O<<, 5EJI< 7=4G5=<5 ?D<6545==>= ?>-

7D5L=>EF< <7<5D5=<= =4?DO65=<O ?>EF>O==>7> F>>4 E<EF5<>= ?> F5?< <- 40 � (>)> =a6>4<FEO 6

4>?GE>45<OE ?D545?4E *3 %. � ?D>F<6=>< E?GG45 E<EF5<4 5D4>G5FEO < =4?D46?O5FEO 6 D5<>=F.

,l5
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l0.1l $4EG5F ?D<6545==>= (> ��) ?>7D5L=>EF< <7<5D5=<= =4?DO65=<O ?>EF>O==>7> F>_
>4 ?> F5?< >D l >

10.11.1 �D<65?5==GN ?>7D5L=>EFL yU <7<5D5=<= =4?DO65=<O ?>EF>O==>7> F>>4 ?> F5-
?< <Pl> 6OG<E?OFL ?> D>D<G?5 (l):

l 0. l l .2 $57G?LF4FO 6OG<E?5=<= 6=5EF< 6 ?D>F>>>? <&45?<F4 �.1 l >.

l0.11.3 $57G?LF4FO ?>65D>< EG<F4FL ?>?>6<F5?L=O<<, 5E?< 7=4G5=<5 ?D<6545==>= ?>_
7D5L=>EF< <7<5D5=<= =4?DO65=<O ?>EF>O==>7> F>>4 E<EF5<>= ?> F5?< <$1> =4E>4<FEO 6 4>?GE-
�45�OE ?$545?4E +3 %. � ?D>F<6=>< E?GG45 E<EF5<4 5D4>G5FEO < =ir?D46?O5FEO 6 D5<>=F.

l0.12 $4EG5F ?D<6545==>= (> ��) ?>7D5L=>EF< <7<5D5=<= =4?DO656<O ?>EF>O==>7> F>_
>4 ?> F5?< <$2>

10.12.1 �D<65?5==GN ?>7D5L=>EFL yU <7<5D5=<= =4?DO65=<O ?>EF>O==>7> F>>4 ?> F5-
?< <$2> 6OG<E?OFL ?> D>D<G?5 ( l ):

l 0. l 2.2 $57G?LF4FO 6OG<E?5=<= 6=5EF< 6 ?D>F>>>? <&45?<F4 �. l2>.
l0.12.3 $57G?LF4FO ?>65D>< EG<F4FL ?>?>6<F5?L=O<<, 5E?< 7=4G5=<5 ?D<6545==>= ?>-

7D5L=>EF< <7<5D5=<= =4?DO65=<O ?>EF>O==>7> F>>4 E<EF5<>= ?> F5?< <$2> =4E>4<FEO 6 4>rryE-
>45<L= ?D545?4E +� �/>. � ?D>F<6=>< E?GG45 E<EF5<4 5D4>G5FEO < =4?D46JIO5FEO 6 D5<>=F.

l0. l 3 $4EG5F ?D<6545==>= (> ��) ?>7D5L=>EF< <7<5D5=<= =4?DO65�<O ?>EF>O==>7> F>-
>4 ?> F5?< KP,,l >

l0.13.1 �D<65?5==GN ?>7D5L=>EFL yU <7<5D5=<= =4?DO65=<O ?>EF>O==>7> F>>4 ?> F5-
?< <$,, l> 6OG<E?OFL ?> D>D<G?5 (l):

l 0.13.2 $57G?LF4FO 6OG<E?5=<= 6=5EF< 6 ?D>F>>>? >&45?<F4 B.l3>.
l0.1�.3 $57l,?LF4FO ?>65D>< EG<F4FL ?>?>6<F5?L=O<<, 5E?< 7=4G5=<5 ?D<6545==>= ?>-

7D5L=>EF< <7<5D5=<= =4?DO65=<O ?>EF>O==>7> F>>4 E<EF5<>= ?> F5?< KP"l> =4E>4<FEO 6 4>-
?GE>45<OE ?D545?4E +3 %. � ?D>F<6=>< E?GG45 E<EF5<4 5D4>G5FEO < =4?D46?O5FEO 6 D5<>=F.

l0.14 $4EG5F ?D<6545==>= (> ��) ?>7D5L=>EF< <7<5D5=<= =4?DO65=<O ?>EF>O==>7> F>-
>4 ?> G5?< KPn2>

l0.14.1 �D<65?5==GN ?>7D5L=>EFL yU <7<5D5=<= =4?DO65=<O ?>EF>O==>7> F>>4 ?> F5-
?< KPu 2>> 6OG<E?OFL ?> D>D<G?5 (l):

l 0. l4.2 $57G?LF4FO 6OG<E?5=<= 6=5EF< 6 ?D>F>>>? <&45?<F4 �.32>.

l0.14.3 $57G?LF4FO ?>65D>< EG<F4FL ?>?>6<F5?L=O<<, 5E?< 7=4G5=<5 ?D<6545==>= ?>-
7D5L=>EF< <7<5D5=<= =4?DO65=<O ?>EF>O==>7> F>>4 E<EF5<>= ?> F5?< kpn2> =4E>4<FEO 6 4>-
?GE>45<OE ?D545?4E *3 %. � ?D>F<6=>< E?GG45 E<EF5<4 5D4>G5FEO < =4?Dar6?O5FEO 6 D5<>=F.

l0.15 $4EG5F ?D<6545==>= (> ��) ?>7D5L=>EF< <7<5D5=<= =4?DO65=<O ?>EF>O==>7> F>-
>4 ?> F5?< >DM>

l0.15.1 �D<65?5==GN ?>7D5L=>EFL yU <7<5D5=<= =4?DO65=<O ?>EF>O==>7> F>>4 ?> F5-
?< <$ M> 6OG<E?OFL ?> D>D<G?5 (l):

l0.15.2 $57G?LF4FO 6OG<E.,I5=<= 6=5EF< 6 ?D>F>>>? >&45?<F4 �.15>.

l0.15.3 $57G?LF4FO ?>65D>< EG<F4FL ?>?>6<F5?L=O<<, 5E?< 7=4G5=<5 ?D<6545==>� ?>-
7D5L=>EF< <7<5D5=<= =4?DO65=<O ?>EF>O==>7> F>>4 E<EF5<>= ?> F5?<'<<$M> =4E>4<FEO 6 4>?GE-
>45N{OE ?D545?4E +3 %. � ?D>F<6=>< E?GG45 E<EF5<4 5D4>G5FEO < =4?D46?O5FEO 6 D5<>=F.

l 0. l 5 $4EG5F ?D<6545==>= (> ��) ?>7D5L=>EF< <7<5D5=<= =4?DO65=<O ?>EF>O==>7> F>-
>4 ?> F5?< >5u l >>

l0.16.1 �D<65?5==GN ?>7D5L=>EFL yU <7<5D5=<= =4?DO65=<O ?>EF>O==>7> F>>4 ?> F5-

?< >�,, 1>> 6OG<E?OFL ?> D>D<G?5 (l):
l0.16.2 $57G?LF4FO 6OG<E?5=<= 6=5EF< 6 ?D>F>>>? <&45?<F4 �.�4>.
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10.17 $4EG5F ?D<6545==>= (> ��) ?>7D5L=>EF< <7<5D5=<= =4?DO65=<O ?>EF>O==>7> F>-
>4 ?> F5?< <�u2>>

l0.17.1 �D<65?5==GN ?>7D5L=>EFL yU <7<5D5=<= =4?DO65=<O ?>EF>O==>7> F>>4 ?> F5-

?< >�,,2>>> 6OG<E.lOFL ?> D>D<G?5 (l):
l 0.1 7.2 $57G?LF4FO 6OG<E?5= <= 6=5EF< 6 ?D>F>>>? <&45?<F4 �.17>.

l0.17.3 $57G?LF4FO ?>65D>< EG<F4FL ?>?>6<F5?L=O<<, 5E?< 7=4G5=<5 ?D<6545=?>� ?>-
7D5L=>EF< <7<5D5=<= =4?DO65=<O ?>EF>O==>7> F>>4 E<EF5<>= ?> F5?< >6"2>> =4E>4<F%O � ��-

?GE>45<OE ?D545?4E +j %. � ?D>F<6=>< E?GG45 E<EF5<4 5D4>G5FEO < =4?D46?O5FEO 6 D5<>=F.

l0.1 8 $4EG5F ?D<65?5==>= (> ��) ?>7D5L=>EF< <7<5D5=<= =4?DO65=<O ?>EF>O==>7> F>-

>4 ?> F5?< >�l>>

l0.18.1 �D<65?5==GN ?>7D5L=>EFL YU <7<5D5=<= =4?DO65=<O ?>EF>O==>7> F>>4 ?> F5-

?< <El >> 6LiG<E?OFL ?> D>D<G?5 (1):

10.1 8.2 $57G?LF4FO 6OG<E_q5=<= 6=5EF< 6 ?D>F>>>? <&45?<F4 �.18>.

l0.18.� $57G?LF4FO ?>65D>< EG<F4FL ?>?>6<F5?L=O<<, 5E?< 7=4G5=<5 ?D<6545=��� ��-

7D5L=>EF< <7<5D5=<= =4?DO65=<O ?>EF>O==>7> F>>4 E<EF5<>= ?> F5?< K5lK> =4E>4<F%/ � ��-

?GE>45<OE ?D545?4E +3 %. � ?D>F<6=>< E?GG45 E<EF5<4 5D4>G5FEO < =4?D46?O5FEO 6 D5<>=F.

l0.19 $4EG5F ?D<6545==>= (> ��) ?>7D5L=>EF< <7<5D5=<= =4?DO65=<O ?>EF>O==>7> F>-

>4 ?> F5?< <<62>>

l0.19.1 �D<65?5==GN ?>7D5L=>EFL TU <7<5D5=<= =4?DO65=<O ?>EF>O==>7> F>>4 ?> F5-

?< <�2 >> 6L7i<E?OFL ?> D>D<G?5 (l):
10.1 9.2 $57G?LF4FO 6OG<E?5=<= 6=5EF< 6 ?D>F>>>? >&45?<F4 �. l9>.

l0.19.3 $57G?LF4FO ?>65D>< EG<F4FL ?>?>6<F5?L=O<<, 5E?< 7=4G5=<5 ?D<6545==�� ��-

7D5L=>EF< <7<5D5=<= =4?DO65=<O ?>EF>O==>7> F>>4 E<EF5<>= ?> F5?< >62>> =4E>4<FEO 6 4>_

?GE>45<OE ?D545?4E *3 %. � ?D>F<6=>< E?GG45 E<EF5<4 5D4>G5FEO < =4?D46?O5FEO 6 D5<>=F.

'l0.20 $4EG5F ?D<6545==>= (> ��) ?>7D5L=>EF< <7<5D5=<� =4?DO65=<JI ?>EF>O==>7> F>-

>4 ?> F5?< <�M>>

l0.20.1 �D<65?5==GN ?>7D5L=>EFL yu <7<5D5=<= =4?DO65=<O ?>EF>O==>7> F>>4 ?> F5-

?< <6M >>> 6OG<E?OFL ?> D>D<G?5 (l):
l0.20.2 $57G?LF4FO 6OG<E?5=<= 6=5EF< 6 ?D>F>>>? <&45?<F4 �.20>.

10.20.3 $57G?LF4FO ?>65D>< EG<F4FL ?>?>6<F5?L=O<<, 5E?< 7=4G5=<5 ?D<65�5���� ��-

7D5L=>EF< <7<5D5=<= =4?DO65=<O ?>EF>O==>7> F>>4 E<EF5<>= ?> F5?< <�M>> =4E>4<FEO 6 4>-
?GE>45<OE ?D545?4E +3 %. � ?D>F<6=>< E?GG45 E<EF5<4 5D4>G5FEO < =4?D46JIO5FEO 6 D5<>=F.

l0.21 $4EG5F ?D<6545==>= (> ��) ?>7D5L=>EF< <7<5D5=<= =4?DO65=IiJl ?>EF>O==>7> F>-

>4 ?> F5?< >�>?.&>

10.21.1 �D<65?5==GN ?>7D5L=>EFL YU <7<5D5=<� =4?DO65=<O ?>EF>O==>7> F>>4 ?> F5-

?< >�>?.&>> 6L7I<E?OFL ?> D>D<G?5 (l ):

l0.21.2 $57G?LF4FO 6OG<E?5=<= 6=5EF< 6 ?D>F>>>? >&45?<F4 B.2l>.
l0.21.3 $57G?LF4FO ?>65D>< EG<F4FL ?>?>6<F5?L=O<<, 5E?< 7=4G5=<5 ?D<65�5���� ��-

7D5L=>EF< <7<5D5=<= =4?DO65=<O ?>EF>O==>7> F>>4 E<EF5<>= ?> F5?< <�>?.&> =4E>4<FEO 6 4>-
?GE>45<OE ?D545?4E +3 %. � ?D>F<6=>< E?GG45 E<EF5<4 5D4>G5FEO < =4?D46?O5FEO 6 D5<>=F.
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l0.17.3 $57G?LF4FO ?>65D>< EG<F4FL ?>?>6<F5?L=O<<, 5E?< 7=4G5=<5 ?D<6545==>� ?>-
7D5L=>EF< <7<5D5=<= =4?DO65=<O ?>EF>O==>7> F>>4 E<EF5<>= ?> F5?< >5ul>> =4E>4<FEO 6 4>-
?GE>45<LrE ?D545?4E +3 %. � ?D>F<6=>< E?GG45 E<EF5<4 5D4>G5FEO < =4?D46JlO5FEO 6 D5<>=F.
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l0.22 $4EG5F ?D<6545==>= (> ��) ?>7D5L=>EF< <7<5D5=<= =4?DO65=<O ?>EF>O==>7> F>-
>4 ?> F5?< <27 � �>47.>

l0.22.1 �D<65?5==GN ?>7D5L=>EFL yU <7<5D5=<= =4?DO65=?O ?>EF>O==>7> F>>4 ?> F5-
?< <27 � �>47.> 6OG<E?OFL ?> D>D?r1,.l5 ( l ):

l0.22.2 $57G?LF4FO 6OG<E?5=<= 6=5EF< 6 ?D>F>>>? <&45?<F4 �.22>.

10.22.3 $57G?LF4FO ?>65D>< EG<F4FL ?>?>6<F5?L=O<<, 5E?< 7=4G5=<5 ?D<6545==>= ?>-
7D5L=>EF< <7<5D5=<= =4?DO65=<O ?>EF>O==>7> F>>4 E<EF5<>= ?> F5?< >27 � �>47.> =4r(>4<FEO

6 4>?GE>45<OE ?D545?4E +3 '>. � ?D>F<6=>< EJIJ?45 E<EF5<4 5D4>G5FEO < =4?Dir6Jur5FEO 6 D5<>=F-

10.23 $4EG5F ?D<6545==>= ?>7D5L=>EF< <7<5D5=<� �4?DO65=<O ?>EF>O==>7> F>>4 ?>

F5?< <27 �-�?.2>

10.23.1 �D<65?5==GN ?>7D5L=>EFL yU <7<5D5=<= =4?DO65=<Jl ?>EF>O==>7> F>>4 ?> F5-
?< <27 �-�?.2> 6OG<E?OFL ?> D>D<G?5 (2):

TU = ((U-.', - U.u. )/ U?),100% (2)

745 Ur' - 7=4G5=<5 =4?DO65=<O, <7<5D5==>5 MF4?>=><;

U",,. - 7=4G5=<5 =4?DO65=<O. <7<5D5==>5 E<EF5<>=.

Un - =>D<<DlF>M55 7=4G5=<5.

l0.23.2 $57G?LF4FO 6OG<E?5=<= 6=5EF< 6 ?D>F>>>? >&45?<F4 �.23>.

l0.23.3 $57G?LF4FO ?>65D>< EG<F4FL ?>?>6<F5?L=O<<, 5E?< 7=4G5=<5 ?D<6545==>= ?>-

7D5L=>EF� <7<5D5=<= =4?DO65=</ ?>EF>O==>7� F>>4 E<EF5<>= ?> F5?< <27 �-�?.2> =4E>4<FEO 6

4>?GE>45<OE ?D545?4E +3 7>. � ?D>F<6=>< E?GG45 E<EF5<4 5D4>G5FEO < =tLD46?O5FEO 6 D5<>=F.

10.24 $4EG5F ?D<6545==>= (> ��) ?>7D5L=>EF< <7<5D5=<= =4?DO65=<O ?>EF>O==>7> F>-

>4 ?> F5?< <<-27 �-�?.2>>

l0.24ll �D<6545==GN ?>7D5L=>EFL YU <7<5D5=<= =4?DO65=<O ?>EF>O=�>7> F>>4 ?> F5-

?< <-27 �-�?.2>) 6OG<E?OFL ?> D>D<G.T 5 (2):

l0.24.2 $57G?LF4FO 6OG<E?5=<= 6=5EF< 6 ?D>F>>>? >&45?<F4 �.24>,

10.24.3 $57G?LF4FO ?>65D>< EG<F4FL ?>,l>6<F5?L=O<<, 5E?< 7=4G5=<5 ?D<6545==>= ?>-

7D5L=>EF� <7<5D5=<= =4?DO65=</ ?>EF>O==>7> F�>4 E<EF5<>= ?> F5?< <-27 �-�?.2> =4E>4<FEO 6

4>?),E>45NrOE ?D545?4E +3 %. � ?D>F<6=>< E?GG45 E<EF5<4 5D4>G5FEO < =4?D46?O5FEO 6 D5<>�F.

l0.25 $4EG5F ?D<6545==>= (> �?) ?>7D5L=>EF< <7<5D5=<= =4?DO65=4O ?>EF>O==>7> F>-

>4 II> u5?< >27 �-�?.6>

10.25.1 �D<65?5==GN ?>7D5L=>EFL yu <7<5D5=<= =4?DO65=<O ?>EF>O==>7> F>>4 ?> F5-

?< <27 �-�?.6> 6OG<E?OFL ?> D>D<G?5 (2):

l 0.25.2 $57.G?LF4FO 6OG<E?5=<= 6=5EF< 6 ?D>F>>>? >&45?<F4 �,25>,

t0,25,3 $57G?LF4FO ?>65D>< EG<F4FL ?>?>6<F5?L=O<<, 5E?< 7=4G5=<5 ?D<6545==>= ?>-

7D5L=>EF� <7<5D5=<= =4?DO65=</ ?>EF>O==>7� F>>4 E<EF5<>= ?> F5?< <27 �-�?.6> =alE>4<FEO 6

4>?GE>45<OE ?D545?4E +3 %. � ?D>F<6=>< E?GG45 E<EF5<4 5D4>G5FEO < �4?D46?O5FEO 6 D5<>�F.

l0.26 $4EG5F ?D<6545==>= (> �?) ?>7D5L=>EF< <7<5D5=<= =4?DO65=<O ?>EF>O==>7> F>_

>4 ?> F5?< <-27 �-�?.6>

10.26.1 �D<65?5==GN ?>7D5L=>EFL TU <7<5D5=<= =4?DO65=<O ?>EF>O==>7> F>>4 ?> F5-

?< <-27 �-�?.6> 6OG<E?OFL ?> D>D<G?5 (2):

l0.25.2 $57G?LF4FO 6OG<E?5=<= 6=5EF< 6 ?D>F>>>? >&45?<F4 �,26>,
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l0.26.3 $57G?LF4FO ?>65D>< EG<F4FL ?>?>6<F5?L=Ll<<, 5E?< 7=4G5=<5 ?D<6545==>= ?>-
7D5L=>EF< <7<5D5=<� =4?DO65=<O ?>EF>O==>7> F>>4 E<EF5<>� ?> F5?< <_27 �-�?.5> =alE>4<FEO 6
4>?}E>45<L6 ?D545?4E +� %. � ?D>F<6=>< E?GG45 E<EF5<4 5D4>G5FEO < =tl?D46?O5FEO 6 DE<>=F.

l0.27 $4EG5F ?D<6545==>= (> ��) ?>7D5L=>EF< <7<5D5=<O E<JIO ?>EF>O==>7> F>>4 ?>
G5?< <27 � (�)>

l0.27.1 �D<65.r5==\l> ?>7D5L=>EFL y[ <7<5D5=<O E<?O ?>EF>O==>7> F>>4 ?> F5?<
>27 � (�)> 6OG<E?OFL ?> D>D<G?5 (3):

yI = ((I.- - In,.,)/ In,l00o= (3)

74₠ IlT - <7<5D5==>5 LG=F>< 7=4G5=<5 E<?O ?>EF>O==>7> F>>4;
I<7, - <7<5D5=�>5 E<EF5<>= 7=4G5=<5 E<?O ?>EF>O==>7> F>>4;
In - =>D<<DGNM55 7=4G5=<5 E<?O ?>EF>O==>7> F>>4

l0.27.2 $571,,rLF4FO 6OG<E?5=<= 6=5EF< 6 ?D>F>>>? >&45?<F4 �.27>.

l0.27.3 $57G?LF4FO ?>65D>< EG<F4FL ?>?>6<F5?L=O<<, 5E?< 7=4G5=<5 ?D<6545==>= ?>-
7D5L=>EF< <7<5D5=<O E<?O ?>EF>O==>7> F>>4 E<EF5<>= ?> F5?< (27 � (�)) =4E>4<FEO 6 4>?GE-
>45<OE ?D545?4E+3 '>. � ?D>F<6=>< E?GG45 E<EF5<4 5D4>G5FEO < =4?D4Ou5FEO 6 D5<>=F.

10.28 $4EG5F ?D<6545==>= (> ��) ?>7D5L=>EF< <7<5D5=<O E<?O ?>EF>O=ll>7> F>>4 ?>
F5?< >27 �-2 (>)>

l0.28.1 �D<65?5==GN ?>7D5L=>EFL yI <7<5D5=<O E<?O ?>EF>O==>7> F>>4 ?> F5?<
F27 �-2 (>)> 6OG<E?OFL ?> D>D<G?5 (3):

l0.28.2 $57luLF4FO 6OG<E?5=<= 6=5EF< 6 ?D>F>>>? >&45?<F4 �.28>.

10.28.3 $57G?LF4FO ?>65D>< EG<F4FL ?>?>6<F5?L=O<<, 5E?< 7=4G5=<5 ?D<6545==>� ?>-
7D5L=>EF< <7<5D5=<O E<?O ?>EF>O==>7> F>>4 E<EF5<>= ?> F5?< F27 �,2 (>)> =4E>?<FEO 6 4>?GE-
>45<OE ?D545?4E t3 %, � ?D>F<6=>< E?GG45 E<EF5<4 5D4>G5FEO < =4?D46?O5FEO 6 D5<>=F.

l0.29 $4EG5F ?D<6549==>= (> ��) ?>7D5L=>EF< <7<5D5=<O E<?O ?>EF>O==>7> F>>4 ?>

F5?< <27 � %-�))

10.29.1 �D<65?5==GN ?>7D5L=>EFL TI <7<5D5=<O E<?O ?>EF>O==>7> F>>4 ?> F5?<

d7 � %-�) 6OG<E?OFL ?> D>D<G?5 (3):

10.29.2 $57G?LF4FO 6OG<E?5=<= 6=5EF< 6 ?D>F>>>? <&45?<F4 �.29>.

l0.29.3 $57G?LF4FO ?>65D>< EG<F4FL ?>?>6<F5?L=O<<, 5E?< 7=4G5=<5 ?D<6545==�� ��-

7D5L=>EF< <7<5D5=<O E<?O ?>EF>O==>7> F>>4 E<EF5<>= ?> F5?< >27 � %-�> �at%���&%/ � ���'%-

>45<OE ?D545?4E *� %. � ?D>F<6=>}r E?GG45 E<EF5<4 5D4>G5FEO < 64?D46?O5FEO 6 D5<>=F.

l0.�0 $4EG5F ?D<6545==>= (> ��) ?>7D5L=>EF< <7<5D5=<O E<?O ?>EF>O==>7> F>>4 ?>

F5?< >- 27 � %-�?
l0.30.1 �D<65?5==},N ?>7D5L=>EFL YI <7<5D5=<O E<?O ?>EF>O=�>7> F>>4 ?> F5?<

(- 27 � %-�) 6OG<E?OFL ?> D>D<G?5 (3):

l0.30.2 $57G?LF4FO 6OG<E?5=<= 6=5EF< 6 ?D>F>>>? >&45?<F4 �.30>.

10.30.3 $57G?LF4FO ?>65D>< EG<F4FL ?>?>6<F5?L=O<<, 5E?< 7=4G5=<5 ?D<6545==>� ?>-

7D5L=>EF< <7<5D5=<O E<?O ?>EF>O==>7> F>>4 E<EF5<>= ?> F5?< >- 27 � %M?> =4E>4<FEO 6 4>-

?}E>45<OE ?D545?iF +7 %. � ?D>F<6=>< E?GG45 E<EF5<4 5D4>G5FEO < =4?D46?O5FEO 6 D5<>=F.
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l0.31 $4EG5F ?D<6545==>= (> ��) ?>7D5L=>EF< <7<5D5=<O E<?O ?>EF>O==>7> F>>4 ?>
F5?< <20 � %-�)

l 0,� l , l �D<6545==}l> ?>7D5L=>EFL yI <7<5D5=<O E<?O ?>EF>O==>7> F>>4 ?> F5?<
>20 � %-�> 6L=<E?OFL ?> D>D<G?5 (3):

l0.3 l .2 $57G?LF4FO 6OG<E?5=<= 6=5EF< 6 ?D>F>>>? >&45?<F4 �.3 1>.

l0.� 1.3 $57G?LF4FO ?>65D>< EG<F4FL ?>?>6<F5?L=O<<, 5E?< 7=4G5=<5 ?D<6545==>= ?>_
7D5L=>EF< <7<5D5=<O E<?O ?>EF>O==>7> F>>4 E<EF5<>= ?> F5?< >20 � %M?> =4E>4<FEO 6 4>?GE-
>45<OE ?D545?4E+� �/>- � ?D>F<6=>< E?GG45 E<EF5<4 5D4>G5FEO < =4?D46JuI5FEO 6 D5<>?F.

l0.�2 $4EG5F ?D<65?5==>= (> ��) ?>7D5L=>EF< <7<5D5=<O E<?O ?>EF>O==>7> F>>4 ?>
?5?< >- 20 � %-�>

l0.32.1 �D<6545==}N ?>7D5L=>EFL YI <7<5D5=<O E<?L1 ?>EF>O==>7> F>>4 ?> F5?<
(- 20 � %-�) 6L]G<E?OFL ?> D>D?rG?5 (3):

l 0.32.2 $57G?LF4FO 6L=<E?5=<= 6=5EF< 6 ?D>F>>>? <&45?<F4 �.32>.
l0.32.3 $57G?LF4FO ?>65D>< EG<F4FL ?>?>6<F5?L=O<<, 5E?< 7=4G5=<5 ?D<6545==>= ?>-

7D5L=>EF< <7<5D5=<O E<?O ?>EF>O==>7> F>>4 E<EF5<>= ?> F5?< (- 20 � %-�> =4E>4<FEO 6 4>-
?GE>45<OE ?D545?4E +7 %. � ?D>F<6=>< E?G{45 E<EF5<4 5D4>G5FEO < =4?Di6?O5FEO 6 D5<>=F.

l0.33 $4EG5F ?D<6545==>= (> ��) ?>7D5L=>EF< <7<5D5=<O E<?O ?>EF>O==>7> F>>4 ?>
G5?< <20 � (>)>

10.3 3.1 �D<6545==!.N ?>7D5L=>EFL yI <7<5D5=<O E<?O ?>EF>O==>7> F>>4 ?> F5?<
>20 � (>)> 6OG<E?OFL ?> D>D<G?5 (3):

10.33.2 $57G?LF4FO 6OG<E?5=<= 6=5EF< 6 ?D>F>>>? >&45?<F4 �.33>.
10.33.3 $57G?LF4FO ?>65D>< EG<F4FL ?>?>6<F5?L=O<<, 5E?< 7=4G5=<5 ?D<6545==>= ?>-

7D5L=>EF< <7<5D5=<O E<?O ?>EF>O==>7> F>>4 E<EF5<>= ?> F5?< >20 � (>)> =4E>4<FEO 6 4>?GE>4-
5<OE ?D545?4E +3 %. � ?D>F<6=>N{ E,.rGG45 E<EF5<4 5D4>G5FEO < =il?D46?O5FEO 6 D5<>=F.

10.34 $4EG5F ?D<6545==>= (> ��) ?>7D5L=>EF< <7<5D5=<O E<?O ?>EF>O==>7> F>>4 ?>
G5?< <- 20 � (>)>

10.34.1 �D<6545==GN ?>7D5L=>EFL TI <7<5D5=<O E<?O ?>EF>O==>7> F>>4 ?> F5?<
<- 20 � (>)> 6OG<E?OFL ?> D>D<G?5 (3):

l0.34.2 $57G?LF4FO 6OG<E?5=<= 6=5EF< 6 ?D>F>>>? <&45?<F4 �.34>.
l0.34.3 $57G?LF4FO ?>65D>< EG<F4FL ?>?>6<F5?L=O<<, 5E?< 7=4G5=<5 ?D<6545==>= ?>-

7D5IlI=>EF< <7<5D5=<O E<?O ?>EF>O==>7> F>>4 E<EF5<>= ?> F5?< >- 20 � (>)> =4E>4<FEO 6 4>?GE-
>45<L= ?D545?4E +3 %>. � ?D>F<6=>< E?GG45 E<EF5<4 5D4>G5FEO < =4?D46?O5FEO 6 D5<>=F-

l0.35 $4EG5F ?D<6545==>= (> ��) ?>7D5L=>EF< <7<5D5=<JI E<?O ?>EF>O==>7> F>>4 ?>
G5?< <40 � (>)>

l0.3 5.1 �D<6545==GN ?>7D5L=>EFL yI <7<5D5=<O E<?O ?>EF>O==>7> F>>4 ?> F5?<
<40 � (>)> 6OG<E?OFL ?> D>D<G?5 (3):

l0.35.2 $57G?LF4FO 6OG<E?5=<= 6=5EF< 6 ?D>F>>>? <&45?<F4 �.35>.

l0.�5.3 $57G?LF4FO ?>65D>< EG<F4FL ?>?>6<F5?L�O<<, 5E?< 7=4G5=<5 ?D<6545��>= ?>-
7D5L=>EF< <7<5D5=<O E<?O ?>EF>O==>7> F>>4 E<EF5<>= ?> F5?< >40 � (>)> =4lE>4<FEO 6 4>?GE>4-
5<OE ?D545?4E +j %. � ?D>F<6=>Nl E,lGG45 E<EF5<4 5D4>G5FEO < =4?D46JIO5FEO 6 D5<>=F.

l0.36 $4EG5F ?D<6545==>= (> ��) ?>7D5L=>EF< <7<5D5=<O E<?O ?>EF>O==>7> F>>4 ?>

?5?< <- 40 � (>)>

l0.36.1 �D<65?5==GN ?>7D5L=>EFL yI <7<5D5=<O E<?O ?>EF>O==>7> F>>4 ?> F5?<
<- 40 � (>)> 6OG<E?OFL ?> D>D<G?5 (3):

l0.36.2 $57G?LF4FO 6OG<E?5=<= 6=5EF< 6 ?D>F>>>? <&45?<F4 �.36>.

l0.36.� $57G?LF4FO ?>65D>< EG<F4FL ?>?>6<F5?L=O<<, 5E?< 7=4G5=<5 ?D<6545==>� ?>-
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7D5L=>EF< <7<5D5=<O E<jIO ?>EF>O==>7> F>>4 E<EF5<>= ?> F5?< >- 40 � (>)> =,lE>4<FEO 6 4>rryE-
>45<OE ?D545?4E %3 �/>. � ?D>F<6=>< E?GG45 E<EF5<4 5D4>G5FEO < =tt?D46JIO5FEO 6 D5<>=F.

10.38 $4EG5F ?D<6545==>= (> ��) ?>7D5L=>EF< <7<5D5=<O E<?O ?>EF>O==>7> F>>4 ?>
F5?< <-27 �-�?.2>

l0.38.1 �D<6545==GN ?>7D5L=>EFL yI <7<5D5=<O E<?O ?>EF>O==>7> F>>4 ?> F5?<
<-27 �-�?.2> 6OG<E?OFL ?> D>D<G?5 (3):

l0.38.2 $57G?LF4FO 6OG<E?5=<= 6=5EF< 6 ?D>F>>>? <&45?<F4 �.38>.

l0.�8.3 $57G?LF4FO ?>65D>< EG<F4FL ?>?>6<F5?L=O<<, 5E?< 7=4G5=<5 ?D<6545==>� ?>-
7D5L=>EF< <7I,t5D5=<O E<-,IO ?>EF>O==>7> F>>4 E<EF5<>= ?> F5?< <-27 �-�?.2> =4E>4<FEO 6 4>-
?GE>45<OE ?D545?4E +3 %. � ?D>F<6=>< E.lGG45 E<EF5<4 5D4>G5FEO < =4?D46?O5FEO 6 D5<>=F.

l0.39 $4EG5F ?D<65l5==>= (> ��) ?>7D5L=>EF< <7<5D5=<O E<?O ?>EF>O==>7> F>>4 ?>

F5?< <<27 �-�?.6>

l0.39.1 �D<6545==GN ?>7D5L=>EFL TI <7<5D5=<O E<?O ?>EF>O==>7> F>>4 ?> F5?<
<27 �-�?.6> 6OG<E?OFL ?> D>D<G?5 (3):

l0.39.2 $57G?LF4FO 6OG<E?5=<= 6=5EF< 6 ?D>F>>>? >&45?<F4 �.39>.

l0.39.3 $57G?LF4FO ?>65D>< EG<F4FL ?>?>6<F5?L=O<<, 5E?< 7=4G5=<5 ?D<6545==>� ��-

7D5L=>EF< <7<5D5=<O E<?O ?>EF>O==>7> F>>4 E<EF5<>= ?> F5?< <27 �-�?.6> =4E>4<FEO 6 4>rryE-

>45<OE ?D545? 4E +3 >/>. � ?D>t<6=>< E?GG45 E<EF5<4 5D4>G5FEO < =4?D46JuI5FEO 6 D5<>=F-

l0.40 $4EG5F ?D<6545==>= (> ��) ?>7D5L=>EF< <7<5D5fl<O E<?O ?>EF>O==>7> F>>4 ?>

F5? < "-27 �-�?.6u

l0.40.1 �D<65?5==GN ?>7D5L=>EFL TI <7<5D5=<O E<?O ?>EF>O==>7> F>>4 ?> F5?<
<-27 �-�?.6> 6OG<E?OFL ?> D>D<G?5 (�):

l0.40.2 $57G?LF4FO 6OG<E?5=<= 6=5EF< 6 ?D>F>>>? <&45?<F4 �.40>.

l0,40.3 $57G?LF4FO ?>65D>< EG<F4FL ?>?>6<F5?L=O<<, 5E?< 7=4G5=<5 ?D<6545==>= ?>-

7D5I11=>EF< <7N{5D5=<O E<JlO ?>EF>O==>7> F>>4 E<EF5<>= ?> F5?< >-27 �-�?.6> =4E>4<FEO 6 4>-
?\E>45<OE ?D5.l5?4E +3 %. � ?D>F<6=>]\,t E?GG45 E<EF5<4 5D4>G5FEO < =4?D46?O5FEO 6 D5<>=F.

l0.4[ $4EG5F ?D<6545==>= (> �?) ?>7D5L=>EF< <7<5D5=<= 4l<F5?L=>EF< E<7=4?4 ?> F5-

?< >�GE> �>
10.41.1 �D<65?5==},N ?>7D5L=>EFL YF <7<5D5=<= 4?<F5?L=>EF< E<7=4?4 ?> F5?< <�GE>

�> 6OG<E?OFL ?> D>D<G?5 (4):

yT = ((F,, - Tu,,)/ F,, l00% (4)

745 FMF - 4?<F5?L=>EFL E<7=4?4, 6>E?D><76545==rrO 75=5D4F>D<, E;

TL,t - 4Jl<F5?L=>EFL E<7=4?4 <7<5D5==< E<EF5<>=, E;

F? - =>D<<D}F>M55 7=4G5=<5 4?<F5?L=>EF< E<7=4?4, E.
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10.37 $4EG5F ?D<6545==>= (> ��) ?>7D5L=>EF< <7<5D5=<O E<?O ?>EF>O==>7> F>>4 ?>
F5?< >27 �-�?.2>

l0.37.1 �D<65?5==GN ?>7D5L=>EFL yl <7<5D5=<O E<?O ?>EF>O==>7> F>>4 ?> F5?<
>27 �-�?.2> 6OG<E?OFL ?> D>D<G?5 (3):

10.37.2 $57G?LF4FO 6OG<E?5=<= 6=5EF< 6 ?D>F>>>? <&45?<F4 �.37>.
l0.37.3 $57G?LF4FO ?>65D>< EG<F4FL ?>?>6<F5?L=O<<, 5E?< 7=4G5=<5 ?D<6545==>= ?>-

7D5L=>EF< <7<5D5=<O E<?O ?>EF>O==>7> F>>4 E<EF5<>= ?> F5?< >27 �-�?.2> =4E>4<FEO 6 4>rryE-
>45<OE ?D545?4E *j %. � ?D>F<6=>irl E?GG45 E<EF5<4 5D4>G5FEO < =4?D46JuI5FEO 6 D5<>=F.
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l0.4l .2 $57G,,rLF4FO 6OG<E?5=<= 6=5EF< 6 ?D>F>>>? <&45?<F4 A.4l >.

l0.41.3 $57G?LF4FO ?>65D>< EG<F4FL ?>?>6<F5?L=O<<, 5E?< 7=4G5=<5 ?D<6545==>� ?>-
7D5L=>EF< <7<5D5=<= 4?<F5?L=>EF< E<7=4I4 ?> F5?< <�GE> �> =4E>4<FEO 6 4>?GE>45<OE ?D5-

45?4E *5 7>. � ?D>F<6=>< E?GG45 E<EF5<4 5D4>G5FEO < =4?D46?O5FEO 6 D5<>=F.

l0.42 $4EG5F ?D<6545==>= (> ��) ?>7D5L=>EF< <7<5D5=<= 4?<F5?L=>EF< E<7=<4 ?> F5-
?< <�&>

l0.42.1 �D<65?5==GN ?>7D5L=>EFL yF <7<5D5=<= 4?<F5?L=>EF< E<7=<4 ?> F5?< (�&D

6OG<E?OFL ?> D>D<G?5 (4):

l0.42.2 $57G?LF4FO 6OG<E?5=<= 6=5EF< 6 ?D>F>>>? <&45?<F4 �.42>.

l0.42.3 $57G?LF4FO ?>65D>< EG<F4FL ?>?>6<F5?L=O<<, 5E?< 7=4G5=<5 ?D<6545���� ��-

7D5L=>EF< <7<5D5=<= 4?<F5?L=>EF< E<7=<4 ?> F5?< <�&> =<>4<FEO 6 4>?GE>45<LD( �$5�5�rr%

+5 %. � ?D>F<6=>< E?GG45 E<EF5<4 5D4>G5FEO < =4?D46?O5FEO 6 D5<>=F.

l0.4� $4EG5F ?D<6545==>= (> ��) ?>7D5L=>EF< 6>E?D><76545=<O 4?<F5?L=>EF< E<?lil?4
?> F5?< (�GE> +)

l0.43.1 �D<65?5==Gl> ?>7D5L=>EFL FF 6>E?D><76545=<O 4,I<F5?L=>EF< E<7=4?4 ?> F5?<
(�\,E> +D 6OG<E?OFL ?> D>D�G?5 (5):

GF = ((T"o.n - Tu"u)/ T",l00% (5)

l0.4�.2 $57G?LF4FO 6OG<E?5=<= 6=5EF< 6 ?D>F>>>? <&45?<F4 �.43>.

l0.43.3 $57G?LF4FO ?>65D>< EG<F4FL ?>?>6<F5?L=O<<, 5E?< 7=4G5=<5 ?D<6545==�� ��-

7D5L=>EF< <7<5D5=<= 4?<F5?L=>EF< E<7=4?4 ?> F5?< <?F> =4E>4<FEO 6 4>?GE>45<L7E ?D545?4E

+5 %. � ?D>F<6=>< E?GG45 E<EF5<4 5D4>G5FEO < =4?D46JIO5FEO 6 D5<>=F.

82

745 F6<? - 4?<F5?L=>EFL E<7=4?4. 6>E?D><76545==4O E<EF5<>=, E;

F>EF - 4?<F5?L=>EFL E<7=4?4 <7Nr5D5==zrO >EF<JI?>D4D><, E;

F? - =>D<<DGNM55 7=4G5=<5 4?<F5?L=>EF< E<7=4?4, E.



E< D<-760.9500-0 <?

l1 >$>D<?�=<� D�7G?LF�F>6 ?>6�D><

l1.1 $57G?LF4FO <7<5D5=<=, ?>?GG5==O5 6 D57G?LF4F5 ?>65D>< 74=5EF< 6 ?D>F>>>?. $5-

>><5=4G5<zL D>D<4 ?D>F>>>?4 ?D<6545=4 6 ?D<?>65=<< �,
l1.2 �D< ?>?>6<F5?L=LtE D57G?LF4F4E ?>65D>< 6=>EOFEO E6545=<= > ?>65D>5 6 $545-

D4?L=O� <=D>D<4F<>==O� D>=4 ?> >55E?5G5=<N 54<=EF64 <7<5D5=<� < 6O445FEO E6<45F5?LEF6>
> ?>65D>5 6 E>>F65FEF6<< E ?>?>65=<O<< �D<>474 �<=?D><F>D74 $$ Ns 25l0 >F 31 .08.2020 7.

11.3 �D< =5E>>F65FEF6<< D57G?LF4F>6 ?>65D>< FD55>64=<O< ?N5>7> <7 ?G=>F>6 =4EF>-
OM5� <5F>4<>< E<EF5<4 > 44?L=5=L5= M>E??G4F4F<< =5 4>?GE>45FEO. �=D>D<4F<O 6=>E<FEO 6
$545D4,FL=O= <=D>D<4G<>==O= D>=4 ?> >55E?5G5=<N 54<=EF64 <7<5D5=<= < 6LF45FEO <765M5-

=<5 > =5?D<7>4=>EF< 6 E>>F65FEF6<< E ?>-:l>65=<O<< �D<>474 �<=?D><F>D74 $$ Ns 2510 >F

31.08.2020 7.

�4G4lL=<> I{eHTpa 201 $��' >�����%> �,�. �4L<D><=4

�54GF<= <=65=5D >F45?4 20'll2 $��' >�����%> %,�. 'GD<?>6

5J



�D<?>65=<5 �
(E?D46>G=>5)

E< D<-760.9500_0 <?

--,l7

L

:

M
>

>
=

E
�6
d�
LF;,ý

E>,

3',�

//

lM^

>
to

a_)?

I

4,�
>+$

ýr

> d
E!*

ýs <M dL
+

$+

> (D
t*L

YE
$

>+

-1

7

>
>

(J
l

-1

E!

E
=

-J I

zI<lc)l
t
I

I

-{
I

ol
Ol

I

I

I

>
}-4
_=_

I

- -,l

.-|
Ei

I

_J
I

I

I

D
l
l
I

- -.l

E|
ai

l
I

=>-

=i,
--!

tI

=

=
=
(.)

l
-,{

I

E\l

=>-
z

=-q5

t4

EG

={L

=-

_]
>-

=

D=
=d(r �:

$<EG=>> 1 - %E5<4 D45>G57> <5EF4 ?> ?D>65D>5 E< D<_760
-J

+

l;M4

84



E< D<-760.9500_0 <?

�D<?>65=<5 �
(D5>><5=?G5<>5)

�D>F>>>? ?>65D>< E<EF5<O <7<5D<F5?L=>= %� $�-760.9500-0 >>=FD>?O ?4D4<5FD>6

�>D<4F<6=O= 4>>},1!(5=F :

$45>G<5 MF4?>=O, %� < 6E?><>74F5?L=O5 F5E=<G5E><5 ED54EF64:

>F=>E<F5_?L=4O 6?46=>EFL
4F<>ED5D=>5 446?5=<5
I �=5L=<= >E<>F_

>55E?5G5=<O (��))

85



E< D<_760.9500_0 <?

4 �?D545?5=<5 <5F>?>7<G5E><E E4D4>F5D<EF<>

4.1 >?D5?5?5=<5 ?D<6545==>= ?>7D5L=>EF< <7<5D5=<= =4?DO65=<O ?>EF>O==>7> F>>4
?> F5?< >27 � (�)>

&45?<F4 �.1 - �=4G5=<O = O65=<= ?>EF>O==>7> F>>4 ?> F5?< >27 � (�)>

�O6>4:

4.2 �?D545?5=<5 ?D<6545==>= ?>7D5L=>EF< <7<5D5=<= =4?DO65=<� ?>EF>O==>7> F>>4

?> F5?< >27 �-2 (>)>

&45?<F4 �.2 - �=4G5=<O = Oi>5=<= ?>EF>O==>7> F>>4 ?> F5?< <27 �-2 (>)>

�O6>4:

4.3 �?D545?5=<5 ?D<6545==>= ?>7D5L=>EF< <7<5D5=<= =4?DO65=<= ?>EF>O==>7> F>>4

?> F5?< (27 � %-�)

&45?<F4 �.3 - �=4G5=<O = 65=<� ?>EF>O==>7> F>>4 ?> F5?< >>27 � %-�))
�4?DO65=<5, 6>E-

?D><76545==>5
7F4?>=><, U,., �.

�7<5D5==>5
E<EF5<>=.

U,,, 6

�5E>?NF=4O
?>rD5L=>EFL

^U, 
6

�>D<<DG-
NL55 7=4-

G5=<5, U, �

�D<6545==4O
?>7D5L=>EFL,

,yU, �/>

�D545?O 4>?GE>45<>=
?D?6545==>= ?>7D5L-

=>EF<, yU"on, 7>

24,0
34.0 +729.0

74.0

�O6>4:

4.4 �?D545?5=<5 ?D<6545==>= ?>7D5L=>EF< <7<5D5�<= =4?DO65=<= ?>EF>O==>7> F>>4

?> F5?< (- 27 � E-�D

&45?<F4 �.4 - �=4G5=<O O;,>5IllI = ?>EF>O==>7> F>>4 ?> F5?< >- 27 � %-�>

�D545?O 4>?GE>45<>=
?D<6545==>= ?>7D5L-

=>EF<, 1U.on, 
0/o

�5E>?NF=4O
?>7D5L=>EFL

^U, 
6

�>D<<DG-
NL55 7=4-

G5=<5, Un. �

�D<6545==4O
?>7D5L=>EFL,

fU,%

�4?DO65=<5, 6>E-
?D><76545==>5

MF4?>=><, U.,, �.

�7<5D5==>5
E<EF5<>=.

U,., 6

24,0
29,0 +734,0

34,0

�4?DO65=<5. 6>E-
?D><76545==>5 MF4-

?>=><, U,,, �.

�7<5D5==>5
E<EF5<>=.

U",, 6

�5E>?NF=4O
?>7D5L=>EFL

^U, 
6

�>D<<DG-
NM55 7=4-

G5=<5, U, �

�D<65,l5==4O
?>$5L=>EFL,

TU. %

�D5?5?O 4>?GE>45<>=
?D<6545==>= ?>7D5L-

=>EF<, yU]>?, 9/>

24,0
34,0 t7)>?

74,0

�4?DO65=<5, 6>E-
?D><76545==>5

MF4?>=><, U,,, �,

�7<5D5==>5
E<EF5<>=.

U",, 6

�5E>?NF=4O
?>7D5L=>EFL

^U, 
6

HopM}rpy-
NL55 7=4-

G5=<5, Un. �

�D<6545==4O
?>7D5L=>EFL,

^1U, 
�/>

�D545?O 4>?GE>45<>=
?D<6545==>= ?>$5L,

=>EF<, 1U,on, 
04

- 24,0
_ 34,0 +3- 29.0

- 34,0
�O6>4:

86



�D5?5?O ?>rryE>45<>=
?D<6545==>= ?>7D5L-

=>EF<, 1U,"., 
�%

�5E>?NF=4O
?>7D5L=>EFL

^U, 
6

�>D<<DG-
NtF55 7=4-

G5=<5, U. �

�D<65,G5==4O
?>7D5L=>EFL,

,|u,%

�4?DO65=<5, 6>E-
?D><76545==>5

MF4?>=><, U,,, �.

�7<5D5==>5
E<EF5<>=.

U,,, 6

l7,0
20,0 +724,0

24,0

E< D<_760.9500-0 <?

4.5 �?D5?5?5=<5 ?D<6545==>= ?>7D5L=>EF< <7<5D5=<= =4?DO65=<� ?>EF>O=�>7> F>>4
?> F5?< (20 � E-�)

&45?<F4 �.5 - �=4G5=<O =4? 65=<= ?>EF>O==>7> F>>4 ?> F5?< (20 � %-�))

�O6>4

4.6 �?D5?5?5=<5 ?D<6545==>= ?>7D5L=>EF< <7<5D5=<= =4?DO65=<� ?>EF>O==>7> F>>4
?> F5?< >- 20 � %-Il>

&45?<F4 �.6 - �=4G5=<O =4? O65=<= ?>EF>O==>7> F>>4 ?> F5?< (- 20 � %-�D

�O6>4:

4.7 �?D5?5?5=<5 ?D<6545==>= ?>7D5L=>EF< <7<5D5=<= =4?DO65=<� ?>EF>O=�>7� &��4

?> F5?< <20 � (>)>

&45?<F4 �.7 - �=4G5=<O =4 =<= ?>EF>O==>7> F>>4 ?> F5?< >20 � > ))

�O6>J:

4.8 �?D545?5=<5 ?D<6545==>= ?>7D5L=>EF< <7<5D5=<= =4?DO65=<� ?>EF>O==>7> F>>4

?> tl5?< <- 20 � (>)>

&45?<F4 �.8 - �=4G5=<O =4? =<= ?>EF>O==>7> F>>4 ?> F5?< (- 20 � > ))

�D<65.?5==4O
?>7D5L=>EFL,

yU,%

�D5?5?O 4>7ryE>45<>=
?D<6545==>= ?>7D5L-

=>EF<, 1Uoon, 
�/>

�5E>?NF=4O
?>7D5L=>EFL

^U, 
6

�>D<<DG-
NM55 7=4-

G5=<5, U. �

�4?DO65= ?5. 6>E-
?D><76545==>5

MF4?>=><, U,,. �.

<7ttt5D5==>5
E<EF5<>=,

U",. 6
_ l7,0
- 20,0 +7- 24,0

- 2.4,0

�D<6545==4O
?>7D5L=>EFL,

yU,%

�D5?5?O ?>FryE>45<>=
?D<6545==>= ?>7D5L-

=>EF<, yUoon, �4

�5E>?NF=4O
?>7D5L=>EFL

AU, 6

�>D<<DG-
NM55 7=4_

G5=<5, U* �

�4?DO65O<5, 6>E-
?D><76545==>5

MF4?>=><, U,., �.

�7<5D5==>5
E<EF5Nl>i!.

U"., 6

l7.0
20,0 +724,0

24?0

�D5?5?O ?>7lGE>45<>=
?D<6545==>= ?>7D5L-

=>EF<. FU4.", '>

�D<6545==4O
?>7D5L=>EFL.

fU,"/.

�5E>?NF=4O
?>7D5L=>EFL

A[J- 6

�>D<<DG-
NM55 7=4-

G5=<5, U' �

�4?DO65=<5. 6>E-
?D><76545==>5

MF4?>=><. U.,. �.

�7<5D5==>5
E<EF5<>=.

U.,. 6
- l7,0
- 20,0 +3

- 24,0

- 24,0

�O6>,l,

87



�4?DO65=<5, 6>E-
?D><76545==>5

MF4?>=><. U.., �.

�7<5D5==>5
E<EF5<>=.

U",. 6

�5E>?NF=4O
?>7D5L=>EFL

^U. 
6

�>D<<DG-
NL55 7=4-

G5=<5, Un. �

�D<6545==4O
?>7D5L=>EFL,

IU, %

�D545?O 4>IIGE>45<>=
?D<6545==>= ?>7D5L-

=>EF<, yU-n, �/>

24,0
32,0 +7

40,0
040

E< D<_750.9500-0 <?

4.9 �?D5:5:r5=<5 ?D<65;t5==>= ?>7D5L=>EF< <7<5D5=<= =4?DO65=<= ?>EF>O==>7> F>>4
?> F5?< >40 � (>)>

&45?<F4 �.9 - �=4G5=<O =4? 65=<= ?>EF>O==>7> F>>4 ?> F5?< (40 � > ))

�O6>4:

4. 10 �?D545?5=<5 ?D<6545==>= ?>7D5L=>EF< <7<5D5=<= =4?DO65=<= ?>EF>O==>7> F>>4
?> F5?< >- 40 � (>)>

&45?<F4 �. l0 - �=4G5=<O =4? O65=<= ?>EF>O==>7> F>>4 ?> F5?< (-40 � > ))

�O6>.f

4.1 l �?D5?5?5=<5 ?D<6545==>= ?>7D5L=>EF< <7<5D5=<= =4?DO65=<O ?>EF>O==>7> F>>4
?> F5?< ($1)

&45?<F4 B.l l - �=4G5=<O =4? O65=<= ?>EF>O==>7> F>>4 ?> F5?< (D l ))

�O6>tr:

4.12 �?D5?5?5=<5 ?D<6545==>= ?>7D5L=>EF< <7<5D5=<� =4?DO65=<O ?>EF>O==>7> F>>4

?> F5?< ($2))

&45?<F4 B.l 2 - �=4G5=<O =4? O65=<= ?>EF>O==>7> F>>4 ?> F5?< >D2>

�>D<<DG-
NL55 7=4-

G5=<5, Un. �

�D<65?5==4O
?>7D5L=>EFL,

yU, �/.

�D545?O 4>IryE>45<>=
?D<6545==>= ?>7D5L-

=>EF<, yU4>?, 9/>

�4?DO65=<5, 6>E-
?D><76545==>5

MF4?>=><, U,,, �.

�7<5D5==>5
E<EF5<>=.

U,,, 6

�5E>?NF=4O
?>$5L=>EFL

^U. 
6

- 24,0
q 1) > 0_40 +3

_ 40,0

�D545?O ?>rryE>45<>=
?D<6545==>= ?>7D5L-

=>EF<. yU,o", %>

�>D<<DG-
NM55 7=4-

G5=<5, U. �

�D<65?5==4O
?>7D5L=>EFL,

lU,%

�4?DO65=<5, 6>E-
?D><76545==>5

MF4?>=><, U,,. �.

�7<5D5==>5
E<EF5<>=.

U"., 6

�5E>?NF=4O
?>7D5L=>EFL

^U. 
6

8,0

9,0 l 0 0

l0,0
- 8,0
_ 9,0 _ 10,0

+7

- l0,0

�D<6545==4O
?>7D5L=>EFL,

-lU,%

�D545?O ?>rryE>45<>=
?D?6545==>= ?>7D5L-

=>EF<, yU4>?, 9/>

�5E>?NF=4O
?>7D5L=>EFL

^U, 
6

�>D<<DG-
NL55 7=4_

G5=<5, Un. �

�4?DO65=<5. 6>E-
?D><76545==>5

MF4?>=><. U,., �.

�7<5D5==>5
E<EF5<>=,

U"., 6
8,0

9,0 10,0

l0,0
- 8,0

- 9,0

+7

_ 10,0
_ l0,0

�O6>4:

88



�4?DO65=<5, 6>E-
?D><76545==>5

MF4?>=><, U.., �.

�7<5D5==>5
E<EF5<>=.

U",, 6

�5E>?NF=4O
?>7D5L=>EFL

^U. 
6

�>D<<DG-
NM55 7=4-

G5=<5, U. �

�D<65?5==4O
?>7D5L=>EFL,

yU,'/.

�D5?5?O ?>rryE>45<>=
?D<6545==>= ?>7D5L-

=>EF<, 1Uoo", 
�/o

8,0
9,0

l0,0
l0,0

_ 8,0

-40
_ l0,0

_ l0,0

+7

E< D<_760.9500-0 <?

4.13 �?D5?5?5=<5 ?D<6545==>= ?>7D5L=>EF< <7<5D5=<= =4?DO65=<O ?>EF>O==>7> F>>4
?> tl5?< ($< l ))

&45?<u4 B.l3 - �=4G5=<O =4rr O65=<= ?>EF>O==>7> F>>4 ?> F5?< (D<l)

�O6>4:

4.14 �?D545?5=<5 ?D<6545==>= ?>7D5L=>EF< <7<5D5=<= =4?DO65=<O ?>EF>O==>7> F>>4
?> F5?< ($<2))

&45?<F4 B.l4 - �=4G5=<O =4? 65=<� ?>EF>O==>7> F>>4 ?> F5?< ($O2))

�O6>4:

4.15 �?D5?5?5=<5 ?D<6545==>= ?>7D5L=>EF< <7<5D5=<� =4?DO65=<O ?>EF>O==>7> F>>4

?> F5?< (($M)

&45?<F4 B.l5 - �=4G5=<O =4? O65=<= ?>EF>O==>7> F>>4 ?> F5?< ((DM)

�D<65?5==4O
?>7D5L=>EFL,

yU, �/>

�D545?O 4>rryE>45<>=
?D<6545==>= ?>7D5L-

=>EF<, yU-,, %>

�4?DO65=<5, 6>E-
?D><76545==>5

MF<>=><. U.,, �.

�7<5D5==>5
E<EF5<>=.

U,,, 6

�5E>?NF=4O
?>$5L=>EFL

^U. 
6

�>D<<DG-
NL55 7=4-

G5=<5, U. �

8,0

9,0 l0,0
l0.0
- 8,0
_ 9,0 - 10,0

_ l0,0

�D<65?5==4O
?>7D5L=>EFL,

,lU,%

�D545?O 4>?GE>45<>=
?D<6545==>= ?>7D5L-

=>EF<, 1U,on, 7>

�5E>?NF=4O
?>7D5L=>EFL

^U, 
6

�>D<<DG-
NL55 7=4-

G5=<5, U' �

�4?DOi>5=<5. 6>E-
?D><76545==>5

MF4?>=><, U,,, �.

�7<5D5==>5
E<EF5<>=.

U",. 6

8.0
qo l0,0
l0,0
_ 8,0
_4>

+3

- l0,0
_ l0,0

�O6>:1:

89

l I



�>D<<DG-
NlF55 7O4-

G5=<5, &, �

�D<65.?5==4O
?>7D5L=>EFLl

yU, �/.

�D545?O 4>7ryE>45<>=
?Dlr6545==>= ?>7D5L-

O>EF<, yUoon, �=

�4?DO65=<5, 6>E-
?D><76E45==>5

MF4?>=><, U,,, �.

�7<5D5==>5
E<EF5<>=.

U",, 6

�5E>?NF=4O
?>7D5L=>EFL

AU, 6
8,0

9,0

l0,0
10,0

- 8,0

0-9 _ 10,0

l0,0

E< D<_760,9500-0 <?

4.16 �?D5?5?5=<5 ?D<6545==>= ?>7D5L=>EF< <7<5D5=<= =4?DO65=<O ?>EF>O==>7> F>>4
?> F5?< (�<l >)

F45?<F4 �.l 5 - �=4G5=<O =4 O65=<= ?>EF>O==>7> F>>4 ?> F5?< (6<l>))

�O6>4

4.17 �?D545?5=<5 ?D<6545==>= ?>7D5L=>EF< <7<5D5=<= =4?DO65=<O ?>EF>O==>7> F>>4
?> F5?< >�u2>>

&45?<F4 B.l7 - �tt4G5=<O =4? O65=<= ?>EF>O==>7> F>>4 ?> F5?< (6<2>>>

�O6>4:

4.18 �?D5?5?5=<5 ?D<6545==>= ?>7D5L=>EF< <7<5D5=<� =4?DO65=<O ?>EF>O�=>7> F��4

?> F5?< (6l >)

&45?<F4 B.l8 - �=4G5=<O =4? 65=<= ?>EF>O==>7> F>>4 ?> F5?< >5l>>

�D545?O 4>?GE>45<>=
?D<6545==>= ?>7D5L-

=>EF<, yU,"", %

�5E>?NF=4O
?>7D5L=>EFL

^U. 
6

�>D<<DG-
NM55 7=4-

G5=<5, U". �

�D<6545==4O
?>7D5L=>EFL,

yU,'/"

�4?DO65=<5, 6>E-
?D><76545==>5

MF4?>=><, U,,, �.

�7<5D5==>5
E<EF5<>=,

U,,, 6
8,0

9,0 10,0

l0,0
- 8,0
- 9,0

+7

_ l0,0
l0,0

�D545?O 4>?GE>45<>=
IID<6545==>= ?>7D5L-

=>EF<, yUoon, �/>

�>D?t<DG-
NM55 7=4-

G5=<5, Un. �

�D<6545==4O
?>7D5L=>EFL,

rU,%

�5E>?NF=4O
?>7D5L=>EFL

?tJ. 6

�4?DO)t(5=<5, 6>E-
?D><76545==>5

MF4?>=><. U,,, �.

�7<5D5==>5
E<EF5<>=,

U,., 6

8,0

9,0 l0,0
10,0

- 8,0
0-9

+�

- l0,0

�O6>.l

f _-'

- 10,0

90



�D545?O 4>?GE>45<>=
?D<6545==>= ?>7D5L-

��%&�, YU4>?, 
�/>

�4?DO65=<5, 6>E-
?D><76545==>5

MF4?>=><, UrT, �.

�7<5D5==>5
E<EF5<>=,

U,,, 6

�5E>?NF=4O
?>7D5L=>EFL

^U, 
6

�>D<<DG-
NM55 7=4-

G5=<5, U". �

�D<6545==4O
?>7D5L=>EFL,

.|U,>/>

8,0

9,0 10,0

l0,0
_ 8,0
- 9,0 - 10,0

+7

- l0,0

E< D<_750.9500_0 <?

4.19 �?D545?5=<5 ?D<6545==>= ?>7D5L=>EF< <7<5D5=<= =4?DO65=<O ?>EF>O==>7> F>>4
?> F5?< (�2>)

&45?<F4 �. l9 - �=4G5=<O =4? O65=<= ?>EF>O==>7> F>>4 ?> F5?< (�2>)

�O6>4

4.20 �?D545?5=<5 ?D<6545==>= ?>7D5L=>EF< <7<5D5=<= =4?DO65=<JI ?>EF>O==>7> F>>4
?> F5?< (6M>)

&45?<F4 �.20 - �=4G5=<O =4? O65=<= ?>EF>O==>7> F>>4 ?> F5?< (�M>)

�O6>4

4.2l �?D5?5?5=<5 ?D<6545==>= ?>7D5L=>EF< <7<5D5=<� =4?DO65=<O ?>EF>O==>7� &��4

?> F5?< <�>?. &>

&45?<F4 B.2l - �=4G5=<O =4? O65=<= ?>EF>O==>7> F>>4 ?> F5?< (�>?. TD

�4?DO65=<5, 6>E-
?D><76545O=>5

MF4?>=><. U,,. �.

�7<5D5==>5
E<EF5<>=_

U".. 6

�5E>?NF=4O
?>7D5L=>EFL

^U, 
6

�>D<<DG-
NL55 7=4-

G5=<5, U,. �

�D<6545==4O
?>7D5L=>EFL,

yU,%

�D545?O 4>?GE>45<>=
?D<65456=>= ?>7D5L-

=>EF<, 1U,o., '>

74,0 :tJ)>?

74,0

�D5?5?O ?>?GE>45<>=
?D<6545==>= ?>7D5L-

=>EF<, 1Uoon, 
�%

�5E>?NF=4O
?>7D5L=>EFL

^U. 
6

�>D<<DG-
NL55 7=4-

G5=<5, U. �

�D<6545==4O
?>7D5L=>EFL,

^lu,%

�4?DO65=tr5. 6>E-
rlD><76545==>5

MF4?>=><, U,,, �.

�7<5D5==>5
E<EF5iv>=.

U",. 6

8,0

09 l0,0

10.0

0-8

0-9

+3

- l0,0

�O6>4:

91

- l0,0

24,0



�4?DO65=<5, 6>E-
?D><76545==>5

MF4?>=><, U,., �.

�7<5D5==>5
E<EF5<>=.

U,,, 6

�5E>?NF=4O
?>7D5L=>EFL

?li. 6

�>D<<DG-
NM55 7=4-

G5=<5, U?. �

�D<6545==4O
?>7D5L=>EFL,

"lU,%

�D5.G5?O ?>7ryE>45<>=
?D<6545==>= ?>7D5L-

=>EF<, yUoon, �=

24,0

29,0

74,0

34,0 +7

E< D<-760?9500-0 <?

4.22 �?D5?5"r5=<5 ?D<6545==>= ?>7D5L=>EF< <7<5D5=<= =4?DO65=<O ?>EF>O==>7> F>>4
?> F5?< <27 � �>47.>

&45?<F4 �.22 - �=4G5=<O =4? O65=<� ?>EF>O==>7> F>>4 ?> F5?< >27 � �>47.>

�O6>4

4.23 �?D545?5=<5 ?D<6545==>= ?>7D5L=>EF< <7<5D5=<= =4?DO65=<= ?>EF>O==>7> F>>4
?> F5?< <27 �-�?.2>

&45?<F4 �.23 - �=4G5=<O =47r O65=<= ?>EF>O==>7> F>>4 ?> F5?< (27 �-�?.2>

�O6>4:

4.24 �?D545?5=<5 ?D<6545==>= ?>7D5L=>EF< <7<5D5=<= =4?DO65=<= ?>EF>O==>7> F>>4
?> F5?< <- 27 �-�?.2>

&45?<F4 �.24 - �=4G5=<O =4? O65=<= ?>EF>O==>7> F>>4 ?> F5?< (- 27 �-�?.2>

�O6>4

4.25 �?D5?5?5=<5 ?D<6545==>= ?>7D5L=>EF< <7<5D5=<= =4?DO65=<= ?>EF>O==>7> F>>4
?> ?5?< <27 �-�?.6>

&45?<L4 �.25 - �=4G5=<O =4? O65=<= ?>EF>O==>7> F>>4 ?> F5?< >27 �-�?.6>

ro ?

GEF4=>6?5==>5
7=4G5=<5

=4?DO65=<O
U,.., 6.

�7<5D5==>5
MF:L?>=><,

U,,, 6

�7<5D5==>5
E<EF5<>=.

U",, 6

�5E>?NF=4O
?>7D5L=>EFL

^U. 
6

�>D<<DG-
NM55 7=4-

G5=<5, U. �

�D<6545==4O
?>7D5L=>EFL,

rU,%

�D5,G5?O ?>rryE-
>45<>= ?D<65-

45==>= ?>7D5L-
=>EF<, 1U,on, 

�=

z4,0
29.0

34,0
34,0 fJ

GEF46>6?5==>5
7=4G5=<5

=4?DO65=<O
U,, 6.

�7<5D5==>5
MF4?>=><.

U,,, 6

�7<5D5==>5
E<EF5<>=,

U,,, 6

�5E>?NF=4O
?>7D5L=>EFL

^U. 
6

�>D<<DG-
NL55 7=4-

G5=<5, U, �

�D<65?5==4O
?>$5L=>EFL,

yU,'/"

�D5,G5?O ?>rryE-
>45<>= ?D<65-

45==>= ?>7D5L-
=>EF<, yu,on, '>

- 24,0
-)4>
_ 34,0

_ 34,0 +3

GEF4=>6?5==>5
f=4Ll5=<5

=4?DO65=<O
U". 6.

�7<5D5==>5
MFzuI>=><.

U,,. 6

�7<5D5==>5
E<EF5<>=,

U,,, 6

�5E>?NF=4O
?>7D5L=>EFL

^U. 
6

�>D<<DG-
K)?Iee 7=4-

G5=<5, &. �

�D<6545==4O
?>7D5L=>EFL,

-lU,Y.

�D5?5?O ,G>FryE-

>45<>= ?DF65-

45==>= ?>7D5L-
=>EF<, yU,.", �%

24,0

34,0

+3

�O6>jI:

92

74,0



GEF4=>6?5==>5
7O4G5=<5

=4?DO65=<O
U". 6.

�7<5D5=-
=>5 MFit?>-
=><, U,,, �

�7<5D5==>5
E<EF5<>=,

U,,. 6

�5E>?NF=4O
?>7D5L=>EFL

^U. 
6

�>D<<DG-
NL55 7=4-

G5=<5, U' �

�D<6545==4O
?>7D5L=>EFL,

yU,%

�D5,G5?O ?>?GE-
>45<>= ?D<65-

45==>= ?>7D5L-
=>EF<, 1Uron, 7>

- 24,0
- )> n

- 34,0
- 34,0 iJ

E< D<-750.9500_0 <?

4.26 �?D5?5?5=<5 ?D<6545==>= ?>7D5L=>EF< <7<5D5=<= =4?DO65�<= ?>EF>O==>7> F>>4
?> F5?< <- 27 �-�?.6>

&45?<F4 �.26 - �=4G5=<O =4?

�O6>J:

4.27 �?D5?5?5=<5 ?D<6545==>= ?>7D5L=>EF< <7<5D5=<O E<?O ?>EF>O==>7> F>>4 ?> F5?<
>27 � (�)>

&45?<F4 �.27 - �=4G5=<O E<JO ?>EF>O==>7> F>>4 ?> F5?< (27 �

�O6>4

4.28 �?D5?5?5=<5 ?D<65;I5==>= ?>7D5L=>EF< <7<5D5=<O E<?O ?>EF>O==>7> F>>4 ?> F5?<
>27 �_2 (>)>

&45?<F4 �.28 - �=4G5=<O E<?O ?>EF>O==>7> F>>4 ?> F5?< (27 �-2 ))>

�O6>jl:

4.29 �?D545?5=<5 ?D<6545==>= ?>7D5L=>EF< <7<5D5=<O E<?O ?>EF>O==>7> F>>4 ?> F5?<
>27 � %-�>

&45?<F4 �.29 - �=4G5=<O E<?O ?>EF>O==>7> F>>4 ?> F5?< (27 � %-�))

�>< <=4?L-
=>5 7=4G5_
=<5, I,"", �

�7<5D5==>5
MF&lt>=>[i.

I,,, �

�7<5D5==>5
E<EF5<>=_

I,.", �

�5E>?NF=4O
?>$5L=>EFL,

, 
^I, 

�

�>D<<DG-
NL55 7=4-
G5=<5, I.. �

�D<6545==4O
?>7D5L=>EFL,

yl, �/>

�D545?O 4>?GE>4-
5<>= ?DFs545==>=
?>7D5L=>EF<, 1I, 7>

0.1

2.0

5,0

5,0 t7

�><<=4?L-
=>5,]O4G5-
=<5. l,",- �

�7<5D5==>5
MFil?>=><,

I,,, �

�7<5D5==>5
E <EF5[t >=_

l,,", �

�5E>?NF=4O
?>7D5L=>EFL.

_\I. �

�>D<<DG-
NL55 7=4-
G5=<5, I. �

�D<6545==4O
?>7D5L=>EFL,

G|,%

�D5?5?O ?>?GE>4-
5<>= ?D<s545==>=
?>7D5L=>EF<, yI. 0/>

0.1
)? 5> +3

5,0

� >]v ll = a."l L-

l{oe 7=4G5-
=<5. I,"", �

�7il5D5==>5
MFiF>=><,

I.,, �

�7<5D5==>5
E<EF5<>=,

L,", �

�5E>?NF=4O
?>7D5L=>EFL.

^I. 
�

�>D<<DG-
NL55 7�4-
G5=<5, I. �

�D<6545==4O
?>7?5L=>EFL,

,yl, �/>

�D5?5?O ?>rryE>4-
5<>= ?D<6545==>=
?>7D5L=>EF<, yI, '>

0.1
ý> t7) 0

5,0

l] 1,IBtr.-r:

97

?>EF>O==>7> F>>4 ?> F5?< <- 27 �-�?.6>



�><<=4?L-
=>5 7=4G5_

=<5. I*??,, �

�7<5D5==>5
MF4?>=><,

I.,, �

�7<5D5==>5
E<EF5<>=.

I,,,,. �

�5E>?NF=4O
?>7D5L=>EFL,

^I. 
�

�>D<<DG-
NL55 7=4-
G5=<5. I". �

�D<65?5==4O
?>7D5L=>EFL,

f|.%

�D545?O 4>rryE>4-
5<>= ?D<6545==>=
?>7D5L=>EF<, 1I, 

�=

0,1

5,0 +3)?
ýn

E< D<-760.9500_0 <?

4.30 �?D5?5?5=<5 ?D<6545==>= ?>7D5L=>EF< <7<5D5=<O E<?O ?>EF>O==>7> F>>4 ?> F5?<
(-27 � E-�)

&45?<F4 �.30 - �=4G5=<O E<?O ?>EF>O==>7> F>>4 ?> F5?< ( 27 � E-�)

�O6>4:

4.3l �?D5?5?5=<5 ?D<6545==>= ?>7D5L=>EF< <7<5D5=<O E<?O ?>EF>O==>7> F>>4 ?> F5?<
(20 � %-�))

&45?<F4 B,3l - �=4G5=<O E<?O ?>EF>O==>7> F>>4 ?> F5?< >20 � %-�>

�O6>4:

4.32 �?D5?5?5=<5 ?D<6545==>= ?>7D5L=>EF< <7<5D5=<O E<?O ?>EF>O==>7> F>>4 ?> F5?<
<-20 � %-�ll

&45?<F4 �.32 - �=4G5=<O E<?O ?>EF>O==>7> F>>4 ?> F5?< (-20 � %-�)

�O6>J:

4.33 �?D5?5?5=<5 ?D<6545==>= ?>7D5L=>EF< <7<5D5=<O E<?O ?>EF�O����� &��4 �� &5��

<20 � (>)>

&45?<F4 �.33 - �=4G5=<O E<?O ?>EF>O==>7> F>>4 ?> F5?< (20 � > ))

=>< ?=4?L-
=>5 7=4G5_

=<5. l,n,, �

�7<5D5==>5
MFzt?>=><.

I,,, �

�7G5D5==>5
ctlcTeMoil.

I,.". �

�5E>?NF=4O
?>7D5L=>EFL,

^l. 
�

�>D<<DG-
NM55 7=4-
G5=<5, I".A

�D<65?5==4O
?>$5L=>EFL.

G|, 
�/>

�D545?O 4>rryE>4_
5<>= ?D<6545==>=
?>7D5L=>EF<,1I, �/>

0.1

5 0 +3)?
5,0

�>[, < =4?L-
=>5 7=4G5-
=<5, I""", �

�7<5D5==>5
MFit?>=><,

I-, �

�7<5D5==>5
E<EF5<>=.

Ii*, �

�5E>?NF=4O
?>$5L=>EFL,

^I. 
�

�>D<<DG-
NM55 7=4-
G5=<5, In. �

�D<6545==4O
?>7D5rF=>EFLt

G|,%

�D545?O 4>?GE>4-
5<>= ?D<6545==>=
?>7D5L=>EF<, YI, '>

0 l

5 0 +32.0

5,0

�D5?5?O ?>rryE>4-
5<>= ?D<6545==>=
?>$5L=>EF<, yl, 7>

�D<6545==4O
?>7D5L=>EFL,

r|,Y.

�5E>?NF=4O
?>7D5L=>EFL.

\I. �

�>D<<DG-
NL55 7=4-
G5=<5, In. �

�7<5D5==>5
E<EF5<>=.

I",,, �

=><<=4?L-
?>5 7=4G5-

=<5, I"n", �

�7<5D5==>5
MF4?>=><,

I,,, �

0,1

2,0 +35 0

5,0

�O6>4:

94

I

I



E< D<-750.9500-0 <?

4.34 �?D5,r5?5=t?5 ?D<65tr5==>= ?>7D5L=>EF< <7<5D5=<O E<?O ?>EF>O==>7> F>>4 ?> F5?<
<-20 � (>)>

&45?<F4 �.34 - �=4G5=<O E<?O ?>EF>O==>7> F>>4 ?> F5?< (-20 � ))>

�O6>4:

4,35 �?D5?5?5=<5 ?D<6545==>= ?>7D5L=>EF< <7<5D5=<O E<?O ?>EF>O==>7> F>>4 ?> F5?<
>40 � (>)>

&45?<F4 �.35 - �=4G5=<O E<?O ?>EF>O==>7> F>>4 ?> F5?< >40 � > ))

�O 6>4:

4.36 �?D5?5?5=<5 ?D<6545==>= ?>7D5L=>EF< <7<5D5=<O E<?O ?>EF>O==>7> F>>4 ?> F5?<
<-4() � (>)>

&45?<F4 �.36 - �=4G5=<O E<?O ?>EF>O==>7> F>>4 ?> F5?< (-40 � (K)D

�O6>.t:

4.37 �?D5?5?5=<5 ?D<6545==>= ?>7D5L=>EF< <7<5D5=<O E<?O ?>EF>O==>7> F>>4 ?� &5��

<27 �-�?.2>

&45?<F4 �.37 - �=4G5=<O E<?O ?>EF>O==>7> F>>4 ?> F5?< <27 �-�?.2>

�D<6545==4O
?>7D5L=>EFL!

G|,%

�D5?5?O ?>rryE>4-
5<>= ?D<6545==>=
?>$5L=>EF<, 1I, %>

�>< <=4?L-
=>5 7=4G5-
=<5. l,,n". �

�7<5D5==>5
MFiF>=><,

l,,, �

�7<5D5==>5
E<EF5<>=.

l",., �

�5E>?NF=4O
?>7D5L=>EFL,

4l. �

�>D<<DG-
NL55 7=4-
G5=<5, I" �

0.1

2,0 +3

ý>
) 0

�D<6545==4O
?>$5L=>EFL.

G|, 
�/>

�D5?5?O ?>?GE>4-
5<>= ?D<65?5==>=
?>7D5L=>EF<,1I, �%

�7<5D5==>5
MF4F>=><.

I,,, �

�7<5D5==>5
E<EF5<>l'i.

I 

",", 
�

� 5E>?>rF=4O

?>7D5L=>EFL.

^I. 
�

�>D<<DG-
Nlll55 7=4_

G5=<5, I". �

�>< <=4?L-

=>5 7=4G5-
=<5, 1,o", �

0,1

)n 5,0 +3

5,0

lioNlllHa.,lb-
=>5 ]=4G5-

=<5. l,,.,. �

�7<5D5==>5
MFi??>=><.

I,', �

�7<5D5==>5
E<EF5<>=.

I,,,, �

�5E>?NF=4O
?>7D5L=>EFL.

^l, 
�

�>D<<DG-
NM55 7=4-
G5=<5, In. �

�D<6545==4O
?>7D5L=>EFL,

T|,y.

�D545?O 4>?GE>4-
5<>= ?D<65?5==>=
?>7D5L=>EF<, 1I, '>

0,1

5,0 +31 0

5 0

HoNt }l =4? L-

=>5 7=4G5-
=<5, I".". �

�7<5D5==>5
MF4?>=><,

I,,, �

�7<5D5==>5
E<EFE<>=.

�5E>.,lNF=4O
?>7D5L=>EFL.

4I. �

�>D<<DG-
NL55 7=4-
G5=<5, In. �

�D<65?5==4O
?>7D5L=>EFL,

"l|, '>

�D545?O 4>?GE>4-
5<>= ?D<6545==>=
?>7D5L=>EF<,1l, �4

1.0
36,0 +35,0

l0,0

� O 6>,1:

95



�><<=4?L-
=>5 7=4G5_
=<5, l,,,-, �

�7<5D5==>5
MFiUI>=><,

I,,. �

�7<5D5==>5
E<EF5<>=,

I",,, �

�5E>?NF=4O
?>$5L=>EFL,

^I. 
�

�>D<<DG-
NL55 7=4-
G5=<5, I" �

�D<6545==4O
[>7D5L=>EFL,

G|,%

�D5?5?O ?>rryE>4-
5<>= ?D<65?5==>=
?>7D5L=>EF<, YI, 9/>

1,0

76,05,0

l0,0

E< D<-760.9500-0 <?

4.38 �?D5?5?5=<5 ?D<6545==>= ?>7D5L=>EF< <7<5D5=<O E<?O ?>EF>O==>7> F>>4 ?> F5?<
<-27 �-�?.2>

&45?<F4 �.38 - �=4G5=<O E<?O ?>EF>O==>7> F>>4 ?> F5?< (- 27 �-�?.2>

�O6>4

4.39 �?D5?5?5=<5 ?D<6545==>= ?>7D5L=>EF< <7<5D5=<O E<?O ?>EF>O==>7> F>>4 ?> F5?<
>27 �-�?.6>

&45?<F4 �.�9 - �=4G5=<O E<?O ?>EF>O==>7> F>>4 ?> F5?< <27 �-�?.6>

�O6>4

4.40 �?D5?5?5=<5 ?D<6545==>= ?>7D5L=>EF< <7<5D5=<O E<?O ?>EF>O==>7> F>>4 ?> F5?<
<-27 �-�?.6>

&45?<F4 �.40 - �=4G5=<O E<?O ?>EF>O==>7> F>>4 llt.l F5ll< <<- 27 �-�?.6>

�O6>4

4.4l �?D545?5=<5 ?D<6545==>= ?>7D5L=>EF< <7<5D5=<� 4?<F5?L=>EF< E<7=4?4 ?� &5��

<�l,E> �>

&45?<F4 �.41 - �=4G5=<5 6 Nle=l.i 6>E? ><76545=<O E<7=4?4 ?> F5?< (? E> >))

[-l > ll tr Han L-

=>5 7=4G5_

Htte. lnn,,. �

�7<5D5==>5
MF<>=><,

I.,, �

�7<5D5==>5
E<EF5<>=,

I,.", �

�5E>?NF64O
?>7D5L=>EFL?

^I. 
�

�>D<<DG-
NL55 7=4-
G5=<5, In. �

�D<6545==4O
?>7D5L=>EFL,

yl, �/>

�D5?5?O ?>rryE>4-
5<>= ?D<6545==>=
?>7D5L=>EF<, 1l, 7>

1,0

36,05,0

l0,0

�>< <=4?L-
=>5 7=4G5-
=<5. I".,,. �

�7<5D5==>5
MF4?> => ]l.! ,

I,., �

�7<5D5==>5
ErlEF5<>=,

I,,.,,. �

�5E>?NF=4O
?>7D5L=>EFLl

,\I, �

�>D<<DG-
NF55 7=4-
G5=<5, I, �

�D<65?5==4O
?>7D5L=>EFL,

G|,%

�D545?O 4>rryE>4-
5<>= ?D<6545==>=
?>7D5L=>EF<, yI, 7>

1.0

76,0 +�ý>
10,0

�D5?5?LF 4>rryE>45-
<>= ?D<6545==>=

���$5,��%&�, Y&, '>

�>D<<Dl,r>M55

7=4G5=<5, &?, E

�D<65?5==4O
?>7D5L=>EFL,

rt. ,o

�5E>?NF=4O
?>7D5L=>EFL

_\F. E

�>E?D><76545==>5
7=4G5=<5 MFzL?>-

=><. & F, E

�7<5D5==>5
E<EF5<>=.

& u.u^C

10

l 2

2

�O6>4:

96

+7

+3



E< D<-760.9500-0 <?

4.42 �?D545?5=<5 ?D<6545==>= ?>7D5L=>EF< <7<5D5=<= 4?<F5?L=>EF< E<7=4?4 ?> F5?<
>�&>

&45?<F4 �.42 - �=4G5=<5 Illl <76545=<O E<?l4?4 ?> F5?< >�&>>

�O6>.1:

4.43 �?D5?5?5=<5 ?D<6545==>= ?>7D5L=>EF< =><<=il?L=>7> 7=4G5=<O 4?<F5?L�>EF<
6>E?D><76545=<O E<7=zl?4 ?> F5?< (�GE> +)

&45?<F4 �.43 - �=4G5=<5 .]",I<F5.lL=>EF< 6>E? <76545=<O E<7=4?4 ?> F5?< (? +)

�O6>4:

74>-?NG5=<5

�7<5D5==>5
E<EF5<>=,

& 
",u, 

E

�5E>?NF=4O
?>7D5L=>EFL

?\F. E

�>D<<Dl+>L55

7=4G5=<5, Tn, E

�D<65?5==4O
?>7D5L=>EFL,

lr, %

�D545?O 4>?GE>45-
<>= ?D<6545==>=

���$5,��%&�, &&, 7>

�>E?D><76545==>5
7=4G5=<5 MF:L>=><,

& 6,rE?, E

0,1

l 2 +3

?.

�>D<<DGNM55

7=4G5=<5, &?, E

�D<6545==4O
?>7D5L=>EFL,

GF,%

�D545?O 4>?GE>45-
<>= ?D?6545O=>=

?>7D5L=>EF<. Y&, 
�/>

�>E?D><765?5==>5
7=4.l5=<5 E<EF5<>=,

& 6>E?, %

�7<5D5==>5
MF:?Jl>=><.

&-,E

�5E>?NF=4O
?>$5L=>EFL

^F, 
E

0,1

l +3)

2,

9,7


